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Harlow, F.H. and Welch, J.E., Numerical calculaion of time dependent viscous incompressible flow of fluid with free
surface, Phys. Fluids, Vol.8(1965), 2182-89.
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13.2 SMACO
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PROGRAM MAIN
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! Flow Problem: Steady 2D incompressible Flow through Backward-Stepped Duct

! Numerical Scheme: SMAC, Rectangular Grid, Central-Differences or Chakravarthy-Osher TVD Scheme

1 sk sk ok o o ok ok ok ok ko ok ok oKk Kk ok oKk K K ok oK ok K ok ok ok K o o ok ok K K o ok KK K oKk K K ok ok ok K ok ok ok K o ok ok K o ok ok K K ok KoK K ok oKk Kk sk ok ok K ok ok ok K ok ok ok

PARAMETER (i10=-30,11=90, j0=-5, j1=15)

DIMENSION u(i0:i1,j0:j1),v(i0:i1,30:j1),uX(i0:11,3j0:j1),vX(i0:i1,j0:j1),p(i0:11,j0:j1), &
phi(i0:i1,3j0:j1),c(0:4,i0:i1,j0:j1),z(i0:i1,j0:j1),£(i0:i1,j0:j1),locf(2,8) ,fmax(8), &
al(-2:8)

COMMON //na,Re,dx,dy,dt

CHARACTER*10 z1,z2(8)

DATA naf,Re,dx,dy,dt/10000, 100., .33333, .2, .04/ 'naf=na_max, Re=Reynolds number

OPEN (20,FILE="0UTPUT.dat’)

! initial values: parabolic velocity profile

DO j=0,j1-1; y=(j+.5)*dy !pustream side duct
FORALL (i=10:0)u(i,j)=(2./3.)*y*(3.-y)

ENDDO

DO j=jO,j1-1; y=(j-jO+.5)*dy; ul=(9./32.)*y*(4.-y) !downstream side duct
FORALL (i=1:i1)u(i,j)=((90.-1i)*u (0, j)+i*ul)/90.

ENDDO

! Recovery pressure of the diverging duct: dp=coef*(1-.75%.75)/2, far-upstream and -downstream
! pressure gradient: -4/3/Re, -9/16/Re, pressure losses of the duct: Dp=(4/3%10+9/16%30)/Re-dp
CALL COEF(c,i0,i1,j0,j1)

na=0; 100 na=na+l 'na=iteration number

CALL COMPZ(u,v,z,i0,il1,j0,j1) !compute zeta

CALL EXPCD(u,v,uX,vX,p,z,i0,i1,j0,j1,locf,fmax) !compute u*,v* by explicit
CALL COMPP(u,v,p,phi,c,i0,il,j0,jl1,resP,locf,fmax) !compute phi,p

CALL COMPU(u,v,phi,i0,il1,j0,jl,locf,fmax) !compute u,v

! Record converging process and decide convergence

IF (na==1)WRITE (20, (A46)°)’ na resNS resP outflow CPU-time’

IF (MOD (na,20)==0) THEN
i=il; resNS=0.
resNS = AMAX1(fmax(1),-fmax(2),fmax(3),-fmax(4))
flow = 3.*dy/8.*(3.*%u(i,-5)+u(i,-4)+(u(i,10)+3.*u(i,11) & !'outlet flow rate
+3.*%u(i,12)+u(i,13))+u(i,13)+3.*u(i,14))
D0 j=-4,8,2; flow = flow+dy/3.*(u(i,j)+4.*u(i,j+1)+u(i,j+2)); ENDDO

CALL CPU_TIME(sec) !'CPU-time
WRITE(20,’ (I5,4F10.5)’)na,resNS,resP,flow,sec
umin=0.; DO j=jO,jl; umin=AMIN1(umin,u(il,j)); ENDDO !search outlet backward flow

IF (umin<0.)WRITE(20,’ (A60) ’) >should extend the duct to remove outlet backward flow’
ENDIF

IF (resP>10.) GOTO 110 !divergence
IF (resNS<1.E-4.AND.resP<1.E-4) GOTO 110 !convergence
IF (na<naf) GOTO 100 !iteration

! Qutput computational results
110 CONTINUE
DO k=1,4
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SELECT CASE (k)
CASE(1); zl=’velocity u’; FORALL(i=i0:il,j=j0:j1)£(i,j)=uX(i,j)
CASE(2); zl=’velocity v’; FORALL(i=i0:i1,j=j0:j1)£(i,j)=vX(i,])
CASE(3); zl=’ pressure ’; FORALL(i=i0:i1,j=jO0:j1)f(i,j)= p(di,j)
CASE(4); zl=’vorticity ’; FORALL(i=i0:il,j=j0:j1)£(i,j)= z(i,j)
ENDSELECT
WRITE(20,’ (/1H 10X A7,A10,A7,10X A4,I5/)’)’*xxxx > zl1,’> ***x*x*x’ ’na =’,na
DO ii=i0,i1-40,40
DO j=j1,j0,-1; WRITE(20,(I3,41F8.4,13)’)j, (£(i,j),i=ii,1i+40),j; ENDDO
WRITE(20,’ (4118/)’) (i,i=ii,ii+40)

ENDDO
ENDDO
! Compute and output reattachment point(rap)
irap=5; 10 irap=irap+1l; IF(u(irap,j0)<0.) GOTO 10  !irap: grid point near rap
ii=-3; 12 ii=ii+l; i=irap+ii
du=u(i, jO); d2u=uX(i,jO+1)-2.*du 'du=Delta u, d2u=Delta”2u
d3u=u(i, jOo+1)-3.*uX (i, jO+1)+3.*du !'d3u=Delta”3u
a=2.; 13 fa = dut(a-1.)/2.*%(d2u+(a-2.)/3.*d3u) !fa=f (alpha) by cubic interpolation
IF (ABS(fa)<.0001) GOTO 14
dfa = d2u/2.+(2.*%a-3.)/6.%d3u !dfa=f’ (alpha)
a=a-fa/dfa; GOTO 13 'by Newton method
14 al(ii)=a; IF(a>0.14) GOTO 12 'al(iii): alpha of u=0
IF(al(ii)<0.01)ii=ii-1 lirap+iii: adjacent grid point to rap
xrap = (irap+ii+al(ii)/(al(ii-1)-al(ii)))=*dx !comp rap by linear extrapolation
WRITE(20,’ (56X A7,F5.1)°)’xrap = ’,xrap

! Output locations and values of maximum and minimum of residuals and divergence

DATA z2/’maxdu =’,’mindu =’,’maxdv =’,’mindv =’,’maxphi =’,’minphi =’,’maxdiv =’,’mindiv =’/
FORALL (i=1:8)1locf(1,i)=locf(1,i)-31; FORALL(i=1:8)locf(2,i)=locf(2,i)-6

DO i=1,8; WRITE(20,’(5X A10,2I4,3X E10.3)’)z2(i), (locf(k,i),k=1,2),fmax(i); ENDDO

CLOSE (20)

CALL BSDuct_CG(uX,vX,p,z)

STOP

END PROGRAM MAIN

! xkkxkkkkkk Compute u* and v* by explicit scheme using central-differences

SUBROUTINE EXPCD(u,v,uX,vX,p,z,10,i1,j0,jl,loct,fmax)

'PARAMETER (i0=-30,11=90, jO=-5, j1=15)

DIMENSION u(i0:i1,j0:j1),v(i0:i1,3j0:j1),uX(i0:i1,j0:j1),vX(i0:i1,30:j1),p(i0:i1,3j0:j1), &
z(i0:i1,3j0:j1) ,du(i0:i1,j0:j1),dv(i0:i1,j0:j1),w1(-30:90),10(2),locf(2,8),fmax(8)

COMMON //na,Re,dx,dy,dt

DO i=i0,il; j00=0; IF(i>0)j00=j0

FORALL (j=jOO+1:j1-1)uX(i,j)=C(u(i,j-1)+u(i,j))/2. 'lu_X(u at point X)
ENDDO
DO j=jO+1,ji-1; i00=0; IF(j>0)i00=i0
FORALL (i=i00+1:i1-1)vX (i, j)=(v(i-1,j)+v(i,j))/2. v _X
i=i1; vX(i,j)=v(i-1,j) loutlet
ENDDO
FORALL (i=i0:i1,j=j0:j1)du(i,j)=0.; FORALL(i=i0:il,j=j0:j1)dv(i,j)=0.
D0 j=j0,ji-1; i00=0; IF(j>=0)1i00=i0 !computation of u
FORALL(i=i00 :il-1)wi(i)=(u(di,j)+u(i+1,j))*(u(d,j)+u(i+l,j))/4. 'wi=uu at P
FORALL (i=100+1:i1-1)du(i,j)=(w1(i)-w1(i-1))/dx
i=il; du(i,jd=u(i,j)*(u(i,j)-u(i-1,j))/dx loutlet

DO i=i00+1,i1
du(i,j)=du(i,j)+(vX(i,j+1)*uX (i, j+1)-vX(i,j)*uX(i,]j))/dy &
+(p(i,j)-p(i-1,3))/dx+(z(i, j+1)-z(i,j))/dy/Re !corrections of NS eq
ENDDO
ENDDO
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DO j=jO+1,j1-1; i00=0; IF(j>0)i00=i0 !computation of v*
FORALL(i=i00:i1-2)dv (i, j)=(uX(i+1,j)*vX(i+1,j)-uX(i,j)*vX(i,j))/dx
i=il-1; dv(i,j)=(uX(i,j)+uX(i+1,3))/2.*%(v(i,j)-v(i-1,j))/dx 'near outlet
ENDDO
DO i=i0,il-1; j00=0; IF(i>=0)3j00=jO
FORALL (j=j00:j1-1)wi(j)=(v(i,j)+v(i,j+1))*(v(i,j)+v(i,j+1))/4. 'wd=vv at P
DO j=j00+1,j1-1
dv(i,j)=dv(i,j)+wi(j)-w1(j-1))/dy &
+(p(i,j)-p(i,j-1))/dy-(z(i+1,j)-z(i,j))/dx/Re !corrections of NS eq
ENDDO
ENDDO
FORALL (i=i0+1:i1,j=j0 :ji-D)u(i,j)=u(i,j)-dt*du(i,j) luk at U
FORALL (i=i0:i1-1,§=j0+1:§1-1)v (i, j)=v(i,j) -dt*dv (i, j) vk at V

10=MAXLOC(du); FORALL (k=1:2)locf(k,1)=1lo(k); fmax(1)=MAXVAL(du)
10=MINLOC(du); FORALL(k=1:2)locf(k,2)=lo(k); fmax(2)=MINVAL(du)
1lo=MAXLOC(dv); FORALL(k=1:2)locf(k,3)=lo(k); fmax(3)=MAXVAL(dv)
10=MINLOC(dv); FORALL(k=1:2)locf(k,4)=1lo(k); fmax(4)=MINVAL(dv)
END SUBROUTINE EXPCD

! xkkxkkkkkk Set up coefficients of Laplace difference operator
SUBROUTINE COEF(c,i0,il1,j0,j1)
'PARAMETER (10=-30,11=90, jO=-5, j1=15)
DIMENSION c(0:4,i0:i1,j0:j1)
COMMON //na,Re,dx,dy,dt
rsdx=1./dx/dx; rsdy=1./dy/dy
D0 j=jO,j1-1; i00=0; IF(j>=0)i00=i0
FORALL (i=i00:i1-1)
c(1,i,j)=rsdx; c(2,i,j)=rsdx
c(3,i,j)=rsdy; c(4,i,j)=rsdy; c(0,i,j)=-2.*(rsdx+rsdy)

ENDFORALL
i= 100; c(1,1,j)=0.; c(0,i,j)=c(0,1,j)+rsdx !inlet & step, phi_x=0
ENDDO
DO i=i0,il-1; j=0; IF(i>=0)j=j0
c(3,1,3j)=0.; <¢(0,i,j)=c(0,1i,j)+rsdy !bottoms, phi_y=0
j=j1-1; <c(4,i,j)=0.; <c(0,1i,j)=c(0,1i,j)+rsdy 'top, phi_y=0
ENDDO

END SUBROUTINE COEF

! skxxkkkkxx Solve bound value problem of Poisson eqn for pressure inclement phi
SUBROUTINE COMPP(u,v,p,phi,c,i0,il1,j0,jl,resp,locf,fmax)
'PARAMETER (i0=-30,11=90, jO=-5, j1=15)
DIMENSION u(i0:i1,3j0:j1),v(i0:i1,j0:j1),p(i0:i1,j0:j1),phi(i0:i1,j0:j1),c(0:4,i0:i1,j0:j1), &
a(120,3),b(120) ,rhs(-30:89,-5:14) ,w(jO:j1),10(2) ,10cf(2,8) ,fmax(8)
COMMON //na,Re,dx,dy,dt
n1=120; n2=20; kf=4; al=1.0; bt=0.5 'alpha:accel, beta:damping
FORALL (j=j0O:j1-1)p(i1,j)=0. ! Dirichlet cond
! Compute rhs
DO i=i0,il-1; j00=0; IF(i>»=0)j00=jO; DO j=j00,ji-1
phi(i,j)=0.
rhs(i,j)=((u(i+1,j)-u(i, j))/dx+(v(i, j+1)-v(i,j))/dy)/dt 'rhs
ENDDO; ENDDO
! Solve simultaneous linear eqs by ADI-method

k=0; 40 k=k+1 'i-sweep
DO i=i0,il-1; im1=MAX(i-1,i0); j00=0; IF(i>=0)j00=j0
D0 j=j00,j1-1; k=j-jOO+1 !setup coefs & rhs of linear eqgs

a(k,1)=c(3,i,j); a(k,2)=c(0,i,j)*al; a(k,3)=c(4,i,j)
b(k)=rhs(i,j)-c(1,i,j)*phi(iml, j)-c(2,1i,j)*phi(i+l,j)-(1.-al)*c(0,i,j)*phi(i,j)
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ENDDO
CALL GAUSS3(a,b,nl,j1-3j00) !solve linear egs
FORALL (j=j00:j1-1)phi(i, j)=b(j-j00+1) 'phi at P
ENDDO
k=k+1 ! j-sweep
D0 j=j0,ji1-1; jm1=MAX(j-1,jO); i00=0; IF(j>=0)i00=i0
DO i=i00,il1-1; k=i-i00+1 !setup coefs & rhs of linear egs

a(k,1)=c(1,i,j); a(k,2)=c(0,i,j)*al; a(k,3)=c(2,i,j)
b(k)=rhs(i,j)-c(3,1i,j)*phi(i,jml)-c(4,i,j)*phi(i,j+1)-(1.-al)*c(0,i,j)*phi(i,j)
ENDDO

CALL GAUSS3(a,b,n1,i1-i00) !solve linear egs
FORALL (i=100:i1-1)phi (i,)=b(i-100+1) Iphi at P

ENDDO

IF (k<kf) GOTO 40

! Compute residuals of phi equations and determine pressure p
resp=0.
DO i=i0 ,il-1; im1=MAX(i-1,i0); j00=0; IF(i>=0)j00=j0
D0 j=j00,j1-1; jmi1=MAX(j-1,30)
res=c(1l,i,j)*phi(iml, j)+c(2,i,j)*phi(i+l,j)+c(3,i,j)*phi(i,jml) &

+c(4,i,j)*phi(i,j+1)+c(0,i,j)*phi(i,j)-rhs(i,j) 'residuals
resp=MAX (resp,ABS(res)) !max residual of phi fde
p(i,j)=p(i,j)+bt*phi(i,j) !corrected p

ENDDO; ENDDO

10=MAXLOC(phi); FORALL(k=1:2)locf(k,5)=1lo(k); fmax(5)=MAXVAL (phi)
1o=MINLOC(phi); FORALL(k=1:2)locf(k,6)=1lo(k); fmax(6)=MINVAL (phi)
END SUBROUTINE COMPP

! xkkxkkkxkk Compute u and v from u* and v*

SUBROUTINE COMPU(u,v,phi,i0,il1,j0,j1,locf,fmax)

DIMENSION u(i0:i1,j0:j1),v(i0:i1,j0:j1),phi(i0:i1,j0:j1),d(i0:i1,j0:j1),10(2),1locf(2,8),fmax(8)
COMMON //na,Re,dx,dy,dt

DO j=jO,ji-1; i00=0; IF(j>=0)i00=i0

FORALL (i=100+1:i1)u(i,j)=u(i,j)-dt*(phi(i,j)-phi(i-1,3))/dx lu at U
ENDDO
DO j=jO+1,ji-1; 100=0; IF(j>0)i00=i0

FORALL (i=100:i1-1)v(i,j)=v(i,j)-dt*(phi(i,j)-phi(i,j-1))/dy v at V
ENDDO

! Compute divergent=u_x+v_y at point P
FORALL (i=i0:i1,j=j0:j1)d(i,j)=0.
DO i=i0,il-1; jO0=0; IF(i>=0)j00=30
FORALL (j=j00:j1-1)d(i,j)=(u(i+1,j)-u(di,j))/dx+(v (i, j+1)-v(i,j))/dy
ENDDO
1o=MAXLOC(d); FORALL(k=1:2)locf(k,7)=1lo(k); fmax(7)=MAXVAL(d)
1o=MINLOC(d); FORALL(k=1:2)locf(k,8)=lo(k); fmax(8)=MINVAL (d)
END SUBROUTINE COMPU

! xkkxkkkkkk Compute vorticity

SUBROUTINE COMPZ(u,v,z,i0,i1,j0,j1)

'PARAMETER (i0=-30,11=90, jO=-5, j1=15)

DIMENSION u(i0:i1,j0:j1),v(i0:i1,3j0:j1),=z(i0:i1,30:j1)
COMMON //na,Re,dx,dy,dt

! Compute zeta=v_x-u_y at point X

FORALL(i=i0:i1,j=j0:j1)z(i,j)=0. !zeta=v_x on inlet, outlet, top & bottoms
DO j=jO+1,ji-1; i00=0; IF(j>0)i00=i0

FORALL (i=100+1:11-1)z(i,j)=(v(i,j)-v(i-1,j))/dx lzeta=v_x
ENDDO

FORALL (j=3j0+1:0)z(0,j)=(3.%v(0,j)-v(1,3)/3.)/dx !step
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DO j=jO+1,j1-1; 100=1; IF(j>0)i00=i0
FORALL (i=i00:11)z(i,j)=z(i,j)-(u(i,j)-u(di,j-1))/dy lzeta=zeta-u_y

ENDDO

DO i=i0,il; j=0; IF(i>0)j=j0
z(i,j)=z(i,j)-(3.*u(i,j )-u(i,j+1)/3.)/dy !bottom walls containing corner point
j=j1; =z(i,j)=(3.*u(i,j-1)-u(i,j-2)/3.)/dy !top

ENDDO

END SUBROUTINE COMPZ

! x*k*x*x Solve simultaneous linear eqns with tri-diagonal matrix
SUBROUTINE GAUSS3(a,b,nl,n)
DIMENSION a(n1,3),b(nl)
DO k=1,n-1
b(k)=b(k)/a(k,2); a(k,3)=a(k,3)/a(k,2)
b(k+1)=b(k+1)-a(k+1,1)*b(k); a(k+l,2)=a(k+l,2)-a(k+1l,1)*a(k,3)
ENDDO
b(n)=b(n)/a(n,2)
DO k=n-1,1,-1; b(k)=b(k)-a(k,3)*b(k+1); ENDDO
END

0000000000000 ooooooooooooooooooooooooooo SMACOOOO
0odo0ooooobooooooooob o000 oo 0oL 00o0b0000 w,v000 pOOOOOO
000000 oobDOooooooooobOoOooOo0oooooooDoboOooooooooooobooooooa
00000000 (000 1H)OOooOoOooooooooOoooOo0 Courant O CFL = Upax At/Az < 1
000000 At < Az/umax =0.22200000000000000000000000 At0 004000
0000000000 00000 ReynoldsO Re=1/v000000000000000O00O0OOO0OO
0do00o0oooooo 00000000 onooooong At=0.04, Re=70000000000
Jo0bodooobbbi0ooooboobbbobsiibbiibU0bU000U0U natdggg 1000
O000D0OD0O0ODOOresNS=resys 0 Navier-Stokes 00000000000 Oresp=resp0 000
00000000000 00000000flow= flowO SimpsonO 1/30 3/800000000000
0000000 3.00000Db0000oUoooonDooooooooooooooooocpuooong
oobooooobDo0d0d resys <0.000100 res, <0.0001000000000

Jodddb « 000000000000 000 000000000000 0oooOoboobooooon
O000000000000000 @4, 0000 uo DOO0OO00000 5 <4 <ipp 000000
00000 21000000000 z=const. U0 v =00000000000000OO0O00O0ODODOO
a=y/(Ay/2) 0000000000000 «a000 30000000000

u(a) = uo+a[Au0+%(a—1) (A2u0+%(a—2)A3u0)] =0

000 u =0, Aug = uj,, A%up = ujy41x —2uj,, A%ug = ujy1—3ujor1x+3u;, 000000000
000 3000000000000000000000000000 e=000000000O000000O
ooooo0O =000000

1 1
fla) EAu0+§(a—1)(A2u0+§(a—2)A3u0) =0
goboboooboobobooobbbobodbotb0 cboboo0ooooooooooooooo
@ = o — f(a")/f (@)

1 1
flla) = §A2u0+ 6(2a—3)A3u0
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uboobboob oe>0000000000000 «0O0O0O0O0D0OO0DOO00O0O0O000 a=0000 200
gobooooooo

. «
Tpap = (zmp+I+ 7l)daz
ar—1—ayg

O00 ¢e.,+[000000000000000O0O00O0O000
oboboooOobObOO0o0obOooooooooboooobooobobobboobbOOooboOoooOooogn

oboooobobooboooooooboooboooooboboboooboooooooooooon
goooD0oO covpZD OO0 XODOO ¢OOOoDODOOOOoOOOOODODOOOO

Vij —Vim1,j _ Wij —Wij-1

Giix = (Ve —uy)ijx = —— Ay (13.8)

gooobOoobooboooboooobo

3ui —U; 3
Giox = —(uy)iox = _OTll/ (13.9)

00000000000 upx =00000000000000000000000 Navier-Stokes 00 0
0000 vwWu=—-v(,0vW2v=v, 0000000000

D00D0D0O0 EXPCDD UOO w*0 VOO v*00 (13.72) 0000000 u(i,j) 0 wi0u; 000
w1 000000000000 du(i,j)=du; 000000000000 Navier-Stokes 1000000

000000000000 000000 000000 (13.7a)000000000O0OO0OOOOO 20000
oooooobooooooonbo

1 1 2 2 n
wh . —ws W L — W U, . o
x _ .n ij i—1,j i,j+1 ij | Pij—Pi—1,5 Giyj+1—Gij
uj; = uij—At{ s + Ay Ly v Ay ] (13.10a)
wi L —wd, wii—wt i R R
v :vf‘-—At[ ”LAJI ¥y Ay” Ly Py Ap;” 1—u<”12z C”] (13.10b)

000 why = (W)yp, w2 = w; = (w)ix, wh; = (?);p00000000000000000000

gbobobOoooo1b0booooobooooboooooo

_— (i —ui 1) |, Wi =W Pu—ping G =G |"

. _omn (vij=vic1y) | Wy Wi piy—piio Gy =Gy |"
'Uij:Uij_At[UijV v + Ay + Ay v (t=1i1—-1) (13.11b)
00000000000 p;,; =0000000MAXLOC(du) O duij|:||:||:||:||:||:||:|(i,j)DMAXVAL(du)I:I
du;; 0000000000O00OMINLOC(du) O MINVAL(duw) OO OO0OO0O0O0O0OOOOOOOOO
gooooo covpPO ¢ 0O Poissonl:ll:lD(13.7C)|:||:||:||:||:||:||:||:||:||:||:||:||:||:||:|p"+1|:||:||:||:||:||:|
gdddd 2000000000000 oo o0 oD oDooooOoooOooooa
0000000000 (13.7¢)0b00000O0 2000000000000000DODOO
Gic1j =201+ Piv1 | Pij—1=2bi+dijn _ 1 Uipyj=Uij | Vi1V

Ax? Ay? T At Az + Ay (13.12)

00000000000000 ¢;,; =0000000000000000000000000000000
0 (13.7b) 00 ¢, =0000 ¢, =0000000000000 uf; =u},; =u/"' 00000 ¢, =00

0] 0]
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000¢;,; 0001000000000 ADIODOO00000000000000000Laplaced000
0000 c000000D0 CORFOOOOOOADIOOONOONONONONONONDONODODOOOOOOOONOO
0 GAUSS30 000 Gauss0OOODOODOOOOO a, b, c0000000000000000O0000O
O00¢;,; 000 100000000000000000AL=e0 ADIDOOOOOODOOBT=4000
p00000000O00O0OCO0OOOOADIOODOD 40000000000000000000000
00000000000 00000000kf=k; =400 2000 y0000000200000000
prtt =pr+ B0

000000 coMpud w10 "+ 000000 (13.7b) 000000 (13.7b) 0000000 2000
0000000 000OO0O0O00n

un+1::u%__‘4tEZL:EE:hi v#lzzv;._43t¢ﬁ"¢@f—1 (13.13)

i Az 0 Ay

000000000000 0000000000 resys 0 Navier-StokesO OO OO (13.10)0 (13.11)0
O0000O0,resp00000000 (13.12)000000, Aflow = flow—3000 w,; 000000000
00000000000000000010°000000000000 resys < 0.000000 resp < 0.0001
obooOoobO0ob0oobooboboOobn0O n=30390000000000000000000000 1500
ooboooboobooooo.asiobbobooboobobooboonon —o0.08380000000000O0O00O0O
10000000000 n=400000000000000000000000 5400000000000
00 a=1004=0500000000000000e<1.0000 090000 ADIOOOOOOOO
ooboobooooboooooboooobOooooooooooobobooooooOoobObOoOoooon
obbooobobooooooobooooboboobobOooboOoobOobOoooobooooOooboboooooooon
gboooobooboooon

0 13.1:000000000000000000 (Re=700SMACO)

x107°
OAflow

On Oresnys Oresp

100
1000
2000
3000
4000

2585
513
80

6

1

3176
298
15
13

1

—1875
1020
346
285
309

Ooooogoo| O

O
O
O
O
O
O

Ooooogoo| O
Ooooogoo| O

0000000000000 0000 4/3Re=.0190500000 9/16Re=.008030 00000000
goooo.ol91,.o060000D0000000DOO0O0OO00O0DOOO0O0O0OOOOO0OOOO0O00d0
ooboooboobooobooboboooboobooobobOOooooooooobobooobobooooo
ob0b0oo0obO0o0000 1152000000 1.1250000000000000

13.3 00000 Neumann(l O OO

MACOOSMACODD OO0 (explicit method) D0 0000 0 € = max(|u|/Az, |v]/Ay)At0 00
00000000000000000000000000000000000000000 At0D0000D0
0000000000000000000000000000000 000 (implicit method) 0000000
0000000000000D0000000000000D0000000000SMACOOD0O (13.7a)
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000000000000000000000000000000000000 00 Navier-Stokesd 0 0
00000000000000 ¢000000
e
ot
0000000000000
0 (13.14)0 000 (trapezoidal law) 0 0 000000000000
¢n+1 ¢n
At
0000 ¢=00000000=1/2000 Crank-Nicholson 0 0=100000000000000
p=1/2000000000000 20000000600 10000003%00 (13.15)00f=u¢00

00000000000 (linearization) 0000000000 ¢"! =¢"+A¢" 000000 ADDODO
(delta-form implicit method) 000000000000 OO

+V-f+d=0 (13.14)

+ (=) (V-f+d)" +0(V-f+d)"T =0 (13.15)

(1+AtOV-u)Ag" = —AH(V-f+d)" (13.16)

000000000 V-0D«00000 AprO0000000000ODO00000O0O000O0O00BO d
000000000000 ¢ =¢"000000000000000000000000000000
000000000000 (13.14) 000000 Ap"0000000000000000O0oOOoDoOo
ooooooooo0o0ooooU0oOooooooOooOOooUoOoOUO00oUUOoDO0OoUOLooDOoOO
goooooooOoooo0ooooo0oOooOoooOooOooooOoooo0oooooOOooODOoOOLo
000000000o0ooooooooooo0 10000oooooooooo0 a0000ogoooog
000000000o0o0oU0oo0oooooooogoooo
0000000000000 0000D000020000 Crank-NicholsonOOOOOOO (Geard)OO
00000 Runge-Kutta 0 0 Adams-Bashuforth 000 0 0000000000000 O0O0O00OOCOOO
gooooOoO0OoOoOoUOooUooUooOOoOOoUOUdOOOO200000000000O0DODOODOOOOOOO
000 (13.16)0 0000000000000 0000O00O000O0O 200 Crank-Nicholson OO OO OO
000000000 NewtonOOOOOOOOODOOOOOODODOODO (13.14) 0 Crank-Nicholson OO O
ooooo
¢n+1 ¢n

— ﬂVf+® +(V-f+d)"} =0

0000 NewtonOOOODOODOOODO ¢™t! mgl™ =¢mD4As™ 000000000000
1 1
(1+§Atv-u) Ap) = —(@" D =g") = SAL{(V-f+d)"+(V-f+d) "V} (13.17)

000000 (m)0 (n+1)00000000mO000000¢® =¢"00000000 ¢! = ¢(™
00000000000000000000000000000000000000000000000
00000000000000

BTaylor 00 ¢"+! = ¢"+ Alpp +(1/2) A2 ¢ +(1/3) A3 G+ -, frH = fr+AUOf/ o)™ +(1/21) At (9%f/ 012" +
00 (13.15)000000000000000

O 30T f ) 4o =0

00000 (13.14) 0000000000 =1/2000000 20000000000000

L1 .d ny L
($e+V - f )"+ At [$e+20(V-f +d)]" + 5 AL
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000 (13.14)0 200000000000

¢n—1 _4¢n+3¢n+1
2At

O0oO0ooobOobObOobOoboO NewtonOODOOOOODOOODOOOODOOODOOODOODOOOOODOO

+(V-f+d)" =0

(1+§Atv-u) Apl™ = _%(¢”*1—4¢”+3¢<m*1>) - ;At (V-f+d)m™Y (13.18)

boooobooobobobobobooboboboobooobooooooobooooOoboooOon
oooooooogoon
000000000000 (13.14)00000000000000000000000DOooOooo

(%-i—u-V)d)-l—d:O (13.19)

0000«000 0000000 9/0t+u-VOOUO t0000000 de/dt =w000000 (interior
derivative) 00000000 (13.14)0 0000000000000 0O0O (13.199 00000000000
gbo¢:00o000000o

Pz, t) = d(@o, to) —/ttddt (13.20)

gooooooooOooooooobobOoobobOobDDbOObOOoOOOdO00ooOooooDoODObbObObOOO
000000000 d=00000000000000000 ¢()=¢(te) 00000 (13.19900000
000000000000 000 «0000000D000D0000DODODO0O0ODODO0O0ODDO ¢oO0D0DOO
000000000000000004000000000000000

¢ =fv-z—vt) (13.21)

000 fO000vz—ot000 (phase) 000000 »000000000000O0v=v«0000
000000000 (13.2)0 d=0000000 (13.14)0000000000000O00O0OODODOOO
00000000000000000000000°000000000000000000d#£0000
0000 ¢(x,t) 000 (13.2000000000000000000000UD0O0O0 0000000 dOO
goobooooboooooooboboboboobobooooboooooboooa
0000000000000 0000000O000000 (proper)000000O0O0ODOOOOODOO
ooboooOooobboooboooboOoooboooboboooooboboOobobOobobOoobooooboooono
oooooooobooboboooboobooboooooono

96 Of (0 Dy,
St = (&m%)qs ~0 (13.22)

000000000000000«t0000 10000000000dz/dt=«000°00000000
00 ¢000000000000O0O000OO0O00O0O0O0O0O0OO0O00e00O0OOODOO (13.22)000
boobobooobooboooboboooooooobooooboobooooboOoboooboboooooboooo

‘i000000000000 n0000000000 n-100000 100000000 20000 n—2000000000
00 (manifold) 000000

S00000000000000000 (homogeneous equation) 0000000 Laplace 0000 200000000000

000 F(z,t,0)=00 xt0000000000000000000 «00000000000000000O000O000O0O
00000000000000000 100000000 (one-parameter family of curves) 0000 F(z,t, o, 3) =00 200
ooooooooooon
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00000000000000000000000000000000000000000000000
00000000 (00)000 ¢0 DO wOOO0O0O0O0OO ODOODOODODOO

0000000000000 00000000 von Neumann 000 (von Neumann stability analysis)
000000000 0oooooooog ¢z, t) 0 Fourier 0 OO

o =r"exp(ikiAx) (13.23)

0000000000 ¢* = ¢(zy, t7), z; =iAz, t" =nAt, i =/—10000000000 «0000
0000000 1000000000 1000000000000000000 (13.23)0000000
r0 C=uAt/Az0000000000CO0000000000000000000000 (Courant
number) 0000 000000000000000000000000 <000 r<100000000
0000000000 r0 COO0O0D0O0OO0O0O000O0

0000000000000 (13.22)0 Ewer 0000 100000000000000000000
0o

G =+ CT (7 =97 1) + O (9, —0F) =0 (13.24)
000000000000 C*f=(C4|C)/2000000 (13.23)000000 rO0COOODO
r—1+|C|(1—coskAz)+iCsinkAz =0
goooboooobooooooobooooobooobbooobboooooooooobooooboooooDoDbo
r? =1+ 2(C*—|C|)(1—cosrAz) < 1
O00001-coskAz>000000000 NeumannOOOOOODOOODODO
|C| = |u|At/Az < 1 (13.25)

000000 z, "' 000000000 ¢t=t"000 |71, 74]0000000000000000

gooo0o000 A+0C000O0QU0DODO0OO000OOOO0O0OO0O0D0O0OODOCOOOODOUOOOOODOUOOO

oooooobooooooo
uobobobooboboooobooooboobooooboboooooooobooon

~

O+ N = Fih) = 07 = MA=0)(fFr e =Sy (13.26)

0000000000 A=Az/At000 fl:IEIIZIDD (numerical flux) 00000000000 1000
oobooooooooooooono

. 1 1
fiv12 = i(fi‘l‘fi—i-l) - §|Ui+1/2|A¢i+1/2 (13.27)

0000000 A¢iy1 =¢i1—; 0000000000 Roe00O0O07000000000O0O100
00000000 (13.26)00 (13.23)0000000+0 COOOO

r[146{iCsinkAz+|C|(1-coskAz)}] =1 — (1-0){iCsinkAz+|C|(1—coscAz)}

"Roe, P.L., Approximate Riemann solvers, parameter vectors, and difference schemes, J. Comput. Phys., Vol.43, 357
372.



o0ooorTvboooo TVvDOOOO 0000 15

gooooboobgogo
_ 2|C{1-(1-26)|C[}(1 —coskAx) <1
1+20|C|(14+6|C|)(1—coskAzx) —
ooooobobooobobbbobobob 200000 oo0obbbobObbOobobDo0obo0bobbobog
gobogoobobooboooooobooobon

=1

(1-28)|C| < 1 (13.28)

0000000100 000000000A=10000000 CourantO |C|OOOO0OOOOCOO 6=1/2
O Crank-NicholsonO0O DO OODO0O0O Cowrant 000000 OO0OO0O0OO0O0DOOOOOOOOOO
00 200000000000000000

fi+1/2 = Uit1/2(Pi+Piy1)/2 (13.29)
ogooooooooobor-0 cooood
r(1+i16CsinkAz) =1—-i(1-6)Csin Az

oooooooo

_ 2 2
221 (20-1)C s11; KAz <1
14+62C2sin“kAx

obOoooobooooobooobooobooooboooooog

9>1/2 (13.30)

000000 200000000000Courant0 |C|O0O00¢=000000000000000=1/2
O Crank-Nicholson OO0 O O0O0O000O=10000000000000000000000000O00Q0OO
O0000Neumann OO0O0OOO0O0O0O0O0OOOOOCCOOOOOOCOOOOOOOO 70000 Courant
0024000000000 000000000O0O0O0O000O00000O0NeumannO0O000O00OOOO
oobobOooooooooboobooooooobooboobon

13.4 TVDUOOOO TVDOUOOO

TVDODODO TVvDOOOOoooooooD 8OOObO 1e000DbO0ODOOO0DOOOOOOOObO0OOOO
0000000 oOo0Oo0OooU0OoO0O00OO0U0O00OO00O00O0O0OOO0D0OO0OOD (13.22)002t000
100 0000000000000 ¢(z,t) 0000000000000 0OO0OOOOO (total variation)TV
000 ¢z, t)D000000O0OOOOOOOO

TV () = /|¢m(z, B)|da (13.31)

ooobooooooOooooobobooboboobooooooooboon.

0 (1331)0 TVOOOODOOO ¢() 00000
0oooooo0o0

1V = [oulde
= (o —P2)+(p1 — Pmin) +|Pmin — Pal
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TVooooootoooooooooooooooboooobooooorTvooobooooooDoo
oboooooobooobooobooobooooobobooobbooboobobooooobobooboooo
l000o0Oo0ooooooboobooobobbooboboooobooorvooooooooobobobooooboOon
000000000000 00000000000o0oO0TYOOOODOOOOO0O TVD(total variation
diminishing) 00007V O OO0 (13.31) 0000000

=2 197 =i (13.32)

00 TVDODO
TV(¢™+) <TV(¢") (13.33)

0oooTVDbOUOOOOOO TVDOUO (13.33) 000000 ¢ 0000000 OOOOOOOOOOO
TVDOOOOOOOOOOOOO0OO0OO0OO0@G) 0000000 00ODO0O0O0O) o0 0OO0ODOO0OOODOO
goooooooooobooobOoo TVbOOOoOoooODOOoOooOoooOoooOOoooooOooOooDoOOo

000 1000000 TVDOUOOOOUOOOO0O0O01000000000000 (13.26)001000
000000000 (1327 0000000000 TvOoOooOoo300

ct>0, C~<0; (1-9)|C| <1 (13.34)
000000000000000
V(") < TV(LHS) = TV(RHS) < TV (¢")

0000 100000000 (13.349)00000TvbOO (13.33)00000TVDbOOOOOOOOOO
000000000 TVDbOOOO (13.34)0000000000000000(1-9)|C|<1000000
0000000000000 #=1/20 Crank-Nicholson 000000 ONeumann 0000000000
0O|Cl00o0000000o00oooo0ooooooTVDbOOOOO0OO |C)<20000

200000000000 O0CouwrantD |C|0 000000000 OOOOCOOOOODOOODOOOOOOO
020000000000000000000O00CCOTVDOOOODOOODOOOOOODChakravarthy-
Osher OO0O0OO0O0O 2000000 20000000000000000000O0O0OODOOODODODOO
ooooodo

. 1 1
Firrye = P+ JA=RAFE y + AR ATE,
1 1 _

_Z(l H)Af+3/z 4(1+’<“')Afi+1/2 (1335)
0000000100 10000000000000 20000000 20000000000000 &
0000000000 0xk=-1000 2000000=1000 2000000=1/2000 LeonardO
QUICKOODOO°000000000QUICKOOOOOOOO0O0DO000000000 30000 20
00000000 uipyye >00000 fisy, fi, fir1D00 w41/, <0000 D0 fi, firr, fira 000 20
Lagrangel:ll:ll:ll:ll:ll]f(zi+1/2)|:||:||:||:||:|(13.35)|:||:||:||:||:||:||:||:||:||:||:||:||:||:||]|:|Taylorl:ll:ll:ll:l
godooooooooooon

1 ; of o°f

E(fiwtl/z_fifl/Z) = (8x) +E(3 Kk—1) Az (8 3

8Chakravarthy, S.R. and Osher, S., A new class of high accuracy TVD schemes for hyperbolic conservation laws. ATAA
Paper 85-0363, 1985.

9Leonard, B.P., A stable and accurate convective modelling procedure based on quadratic upstream interpolation.
Computer Meth. Appl. Meth. Engng., Vol.19(1979),59-98.

)+O(A 3 (13.36)




o0ooorTvboooo TVvDOOOO 0000 17

000 20000000000000 k=1/3000000000000 30000000000000O
0 1/3000 QUICKOOOOO 200000002000000 20000000000000000O
ooooooogoon

00000000000 TVDOOOOOOOOOoOoOO (133000000 10000000000
o0oob200000000000010000000DO TVDOOODODOOODOODODOOOOOO
oo0oooo Tvboooooooooobooooobobooooooooooobo TVDbOOooDOoooooo
000000000000 (limiter) 0 0000 O 0O O Chakravarthy-Osher TVD 00 000 O minmod
obooooooooboobobooobooooooooboon

N A 1 z 1 5
fi+1/2 = fz$i/2 + Z(l_H)Afj__l/g + Z(]-_f_’(“’)Af;:_l/g

- i(l_”)Afi:-a'm - i(l"'"é)Afi_-H/z (13.37)
oono
fi(i;/z = %(fi+fi+1_|Afi+1/2| )s (13.38a)
]?.ﬁm = minmod(Af3,, ,, VASF, ), (=14, i+1) 350
Fiayp = minmod(Af7 o, bASE, ), (G=i-1,1)
minmod(z, y) = sign(x) max[ 0, min{|z|, sign(z)y}] (13.38c¢)

oo ff:uim@, (j=i—1,4,i+1,i+2), [Afir1jo] = [Uit1/2| A1, 0000
0000 (13.37)00000000000000000000000000000000

frvre = £+ =R (= FiE0) + ()= 1)
+ff+1—i(l—’@)(filz_ffﬂ)_3(14"9)(]%11_]0{) (13.39)

000 ff=ufe;, (j=i-1,4,4+1,i+2)0000000000000 f;4,,0000w0000000
000000000000000000000 30 fioy, fi, fin 000 fi, fin, fie.00000000
000000 w0 «00000 1330000000000

000000 w0000 u<0,(x<zitadz), u>0,(z>z+edAz) 0000000000000

fito

fit2

(u>0) (u < 0)

0 13.3: fip 00000

VO0poD00 «0000000000000000 100000000000000 dz/dt=u,vu+c0000000000
000 vw—cOO0O0OO0OO0OOOODOOOOOOOOOOOOOOOOOOODOOODOO v, wOOOOOOOOOOODOOOODO
ooooao
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gobooooboooo

fi+ (A=k)fi/4+ (1+K)(fir1—fi) /4 (-1<a<0)
firre = (L+8)(firr+£:)/4 O<a<l)
firn + (1=k)fix1 /4 — 1+6)(firi—fi)/4 (1<a<?2)
000000 r=100000 20000000000000xk000 100000000000000O
Oo0oooooodnD g1 <zx<z; 0000oOooOn EZI/SDDDDDDDDDD 100000000
(fz)i=Aix(fi+1/2—fi—1/2)=Aix(—%fiqﬁL%me%fiﬂ)
000000000 Db0O0D0OODO0DO0O0DO0OoDOODOODOO0DOOnO TaylorOOOoOoOOODOOOOO
00000000 2(f.):/3+f/(2Az)+--- 00000000000 O(Az-1)000020000000
gddodoooUuoboooooooooooooobooobooooooooon
000 w0000 u>0, (x <zi+ads), u<0, (z>z+ads) 000000000000

A fir1 = A=) (fir2— firr+ fim) /4 — A+R)(fir1— fi) /4 (-1 <a<0)
fivi2 = (A=k)(fi—fici— five+ fir1)/4+ B—r)(fi+ fix1)/4 0<ax<l)
fi+ (A=r)(fi—fic1—fir2) /4 + (A+E)(fir1—fi) /4 (1<a<?)
godo0ooooooooooooooooboooobooobo ooooobooooOooboboooooboooon
oo0o0o0oooooooooooo f_IOO%DDDDDDf_DDDDDDDDDD|:||:||:||:| f+|:||:||:||:|
|:||:||:||:||:||:|Df+100%|:||:||:||:||:||:||:||:||:||:||:||:||:||:||:|DDDDDDDDDDDDDDDDDDDDDD
goo0boooooooooooooooooo
Chakravarthy-Osher 00 0 OO 0000 (13.39)0 000000 100000 20000000000
00000000 b«00000000000000000000000000000O0000O000O00O00
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD|:||:||:|’u,i+1/2|:|
O00ooooobooooooooo

Fuvre = sign(ufy )] S+ G0 i) + 04R) Fen o))

~sign(ug, ) {fin — 30— R) fiva—fir) = (LR i — 1)} (13.40)
«w0000000000000000000000u_1/3 <0, w41, >00000000000000
0100000000 (firr—fie1)/(242) = (£)i+0(A22) 000000 w12 >0, usyy)2 <0000
000100000000 (2—k)(fisr— fio1)/2A2— (1= k) (fira— fi2)/4Az = (f.)i+0(Az?) 0000
00000000 0000 200000000000 (13.40)000 (13.39)0 fi = |sign(u, )|,
(j=i-1,i,i+1,i+2) 0000000000000 (13.39)0 f£ =uk, ,0;, (j =i-1,i,i+1,i+2)
gbooboooboooboouoodb0obewO0oboob b bO0O0 kODODO 200000000
00000 Chakravarthy-Osher 0000000000 x=1/300000 20000000000000
0000 3000000000000D00000000O wO0DO0O00O0O (13.22)000000000OD0O0O
gbogboboboobooboooboboogo

00 Chakravarthy-Osher TVD OO O0OOO00OO0O (13.37) 000000000000 0OOO0OOOO
minmod 000000 (13.38c)000000000O00O00OODOOUOOOOUOOOOOUOOOOOO
goboooboooobo

(2,y 000, |2 < y])

xr
minmod(z, y) = { y (z,y000, |z]>]y|)
0 (z,yOOO)
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minmod(r, b)
1 minmod(r, 1)

0 13.4: minmod OO OO

00 y/z=r0000

L (r=1)
minmod(r, 1) = { r (0<r<l)
0 (r<o0)

000000000 minmod(r, 1) 0000 13400000000000000 (13.38b)000000O0
ooboo00 Af;4+,,,000000000D0000D0 000000000000 DOODODODOOOOOO
obo0o0bwAf;-,,,000000000D0D0O00O0DOO0DOOOOOOO0DDDOOODOOOOOOOODOO
000000000 0000000000000 (slope limiter) D000bM0 10000000000 0OOO
obooouoboooooooooooboobobooooboobboooooboonoo

00 1000000000000 (13.26) 0 O Chakravarthy-Osher TVD O OO OO OOO0OODO (13.37)
oobooobobooooobobO TvDOOOOOOoOoOoooo

ct>0, C <0; (1-9)|C| <1 (13.41)
gon
C* = a4t At/ Ax, (13.42a)
ICl=CT-C, (13.42b)
4 1 1-k uiii1/2 . A(1. brF : d(rE b
Uipy )y = uiq:1/2|: + 7 = » minmod(1, riilm)—mlnmo (ri¥3/2, )}
iF
1+k “il/z . T . +
- Uil/z m1nmod(rii1/2, b) —minmod(1, bri$3/2)}] (13.42¢)
00 %, = A¢js1/2/Adj4120 00000000 300001000 20000000000000
1<b<(3=k)/(1—k) (13.43)

gobo3doooooooooonoa
1
L=0bi|CI <1, b= J{5—r+(1+r)b} (13.44)

000 |C] = (At/Az) max(Ju;—1 /2], |uit1/2]) O O O O Chakravarthy-Osher TVD 0000000000
TVDOOOOOOOOOOOODO (13.38b) 0 b0 0O (13.43) 0000000 Couwrant D COOODODOO
00 At00 (1344)0 0000000000000 O0ODOODOO
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00000000 300000 (k=1/3)00000b<400000000b6=400000000
(#=0)00 |C] < 0.40 Crank-Nicholson 0 (f =1/2)00 |C|<08000000000 (A=1)00 |C]|
000000000 Crank-NicholsonOO |C|=100000b<25000030000000000b=4
000000 (1337)00000000000000

~

fiv12 = 1 1 (13.45)
fi+1 — Eminmod(Afi_,_;,»/g, 4Afi+1/2) — gminmod(Afi_,_l/g, 4Afi+3/2) (U < 0)

1 . 1.
fi+ Emland(Afifl/Z: 4Afi11)2) + gmland(AfiH/z, 4Afi 172)  (u>0)

O0o00oO0o00O0O000oO0o0o0ooo0ooooooo0Dew>00Af>0000000000000
0000000000000 00000oO0O0O0ooO0oOD (134500 10000000000

R 1 . 1 .
fixip=fit {gmlnmod(r, 4) + gmmmod(l, 47‘)}Af,-+1/2 (r=Afi_1/2/Afit1/2) (13.464a)
1 1
=fi+ {éminmod(l, 4r) + gminmod(r, 4)}Afi_1/2 (r=Afit12/Afi—1/2) (13.46b)

013.500000f;, firn D000 ., 0000000 f,4,,,00000000000000000r >4
000 10 minmod 000000 f4,,,000 £;n0000000000000000000000f_1, f;
0000 fit: 0000000 fi1,,000000000000000r<1/400 10 minmod 000 O
00 fi41,.000 fi;m0000000000000000000000000 20 minmed 000000
000000000000000

fist

r=0

P4

fi

O 13.5: Chakravarthy-Osher TVD OO0 0000000

ooooooobooooTvDbOOOOOOODOODOOOOOODDOOOOOOOOOODOOObOOOO
100000000 (13.22) 00000000 0000000000000 OOO0OOOOOOOOOO
oooboooooooooboooobooboobooooboboobooobobooooboooboooooon
oboooooooooooooooooboooobobooobooooooboooooboobooboOoooooon
ooooobooooboobbooboooooooooboooboboobooboooboooooOn =
o000y, z0000000000000000DC0OCDOODOODDOODOOOOOOODDOOODO TVD
gobooooooboboooooooobooooboOobOoOobooooobOoooOooooobooooTVDO
gooooooooboobooooobooboooooboooobooboooooooOobOobOoobOOoDbn
gbobooooooobgon
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13.5 SMACAOOODO

OSMACAOOOOOOSMACOOO 10 (13.7a)00 (13.16)000000000000OO00OOOOO
obooooooooooooono

{1+ At0(V-u"—vV?)} Au* = rhs”, u* =u"+Au" (13.47a)
u" T =ut— At Vo (13.47b)
V" =V-u*/At, p"t=p'+¢ (13.47c)

000 rhs = —At(V-uu+Vp—vV2u—g) 00000 (13.472) 0000000 V-0 A 000000

0000000000000 06=1/200000000 20000 Crank-NicholsonOO=1000 10

000000000 00O0O0O000DO (13.47b)0 (13.47¢)0 SMACOOOODOOODOOOOOOOODOO

SMACOOOOOOOOOOOO0AOOOOOOOOODOOO 13.3000000000
00000000 SMACAOOOOOOOO (13.17)0oooUooooooooo

1
{14+ At0(V-u"—vV?)} Au*(™) = —(u(m=Y) —y) +§(rh5"+rhs(m_1)),

w* M) — (M=) 4 Agg(m) (13.48a)

1
ul™) = u) - Ay (13.48b)
T2 = %v.u*w), ) = p(m=1) 4 g(m) (13.48¢)

000000000 DD0D000D0000DO000DODDO00N0DO0DoooNoDoon «©@ =
u, rhs(®) =rhs"000000000000000O0O0O0O0OO0
SMACAOOOOOO (1347a) 000 (13482)0 0000000000 OOO0OOOOOOOOOOO

000000000 (approximate-factorization, AF) D0 00000 YanenkoO OO O OOOOOOOO
0000000000000 00000000DO0000O Ht(1971) 000 00C0COOOOODODOO
000000 ADO00O0O00O0O000000000000 10000000000 200000000
O000o0ooooooooooooobooon

(14+¢f Ve +cl Ap+cf Vy+cy Ay)u = rhs (13.49)
ooo cf,cf,c;,c;D Courant 00 000000000000V, V,000000A,,A,000000
oooooooad cfku=0(C++V/A$2)(u00—u,1,0)DDDDDDDDDDDDDDDDDDDDDDD

Collpo—C; U _1 0+ uo—cfug, 1 +cy ugy = Ths (13.50)
000 o =(1+|a|+]ex)) 00000 (1349) 000000000000

(L4¢f Vater Ar) (4¢3 Vy+cy Ay)u = rhs (13.51)
0000000000000 ooo0oooooooooon

(].+|Cl|)’a00—cii_a_170+cl_a10:ThS (1352&)

(1+|62|)U00—C;U,07,1+C2_'U,01 217,00 (1352b)

MYanenko, N.N., On the implicit difference computing methods for solving multidimensional heat conduction equa-
tions (Russian), Izv. Uchebn. Zaved., Mathematica, 4(1963), 148-157. Yanenko, N.N., The Method of Fractional Steps.,
1971, Springer-Verlag.
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MoO00000000000 (13.52a)00 (13.52b) 0000000000 (13.50)0 000000000
uboooooooooobo

—ci(—cfu +er|uo, 1+ ur, 1) + |ea|(—¢f u_1 04 |e1|woo +e u1o0)
2 (—cf u—1,1+|cr|ug,—1+c U1 2|(—¢{ u_1,0+|c1|uoo+c1 Uio

+cy (—efu_11+]|cr|uoy ey unr)

00000 ¢ ~0000 e ~0000 w(z,y) OOOOODOOOOOODOOODOOOOOOOOOO
O Courant 00 200 000000000000 0O00OOO0ODODOO Ad00D0O0OOODOOOOOOOO
goobooobo0obobobobooobob0bbo0o0ooooUoboboboooDbo0oOooooOoU0UgdJameson
LU-SGS O (lower-upper symmetric-Gauss-Seidel method) 12 0 000 00000000000 (13.49)0

(14+¢Ve+ci Vy)eo H(1+c; Ay +cy Ay)u = rhs
dooodboboooobboboobobobobobooboboooo
+
1

ColUgo—C 11_170—63’&07_1 =rhs (1353&)

Cotoo + €1 U109+ C5 Up1 = CoUoo (13.53b)

00000000000 (13.53a)00 (13.53b) 00 0000O00OOO (1350)000000000000O
obOooooooog

—cgl{cfc;u_l,l-l-(cfcf +c5 ¢3 Yugo+cg cpur,—1}

000000000 Cowrant OO OOOOOOOOOODO
0(13.50) 000000000000 ¢, >0000000000000000O00O0O00O0O0O

d1Too—daT_1,0 = dorhs, d3upo —daug,—1 = Too
00000000000 0000O0 D000 (13/0)000000000 40000000000
dids = doco, dodsz = dpcy, didy =docy, dady =0

;00000000000 Db0o0ooDObOO00OoDOO00o0ooooOoobOoooOoobDOoOobObOOoDDbOoOooO
gooooo

di=d3=dy=cy, dy=ci, dy=cy

00000¢,<000000000000000000O00O00O0O000O0O (IAF, improved approximate-
factorization) 0 00000 OO0O

Coaoo—cfa_Lo-i-Cfalo =rhs (1354&)

6011,00—0;_1110771 +C2_'U,01 = ColUgo (1354b)
goooooogoboo

14t — o+ + .- -
o (el 3 Uy, 1 —Cl Uy, 1 — ¢ G U1 1+ ¢ u)

12 Jameson, A. and Yoon, S., Lower-upper implicit schemes with multiple grids for the Euler equations, AIAA J., 25(1987),
929-935. Yoon, S. and Kwak, D., Implicit Navier-Stokes solver for three-dimensional compressible flows, AIAA J., 30(1992),
2653-59.
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O Couwrant DO OOQODOOOO
00000000 AoOooooo

(I+¢f Ve+e Aptcs Vy+ey Ay+ca Vo+eg A)u = rhs (13.55)

oboooobooboooooooo

(1+|Cl|)ﬂ000—Cfﬂ,170’0+01717,100 =rhs (13563)

(1+4c2])ooo — €3 to,~1,0+¢5 Toto = Uooo (13.56b)

(14es])uooo — €3 10,0,—1+ €5 too1 = Tooo (13.56¢)
LU-SGSO OO

Coliooo — € U—1,0,0—CF o, —1,0—CF o 0,1 = rhs (13.57a)

CoUooo +€] U100 +C5 Uo10+C3 Uoo1 = Cotiooo (13.57b)

ooooooboooooon

COEOOO_CTﬂfLO,O"‘C;ﬂlOO =rhs (13.58a)
= +: — = _ —

CoUpoo — Cy Up,—1,0+Cy Upr0 = CoUooo (13.58b)
+ — _ =

CoU000 — C3 Up,0,—1+C3 Upo1 = CoUpo0 (13.58¢)

000 ¢ = 14]|a|+]ex|+]es] 0000000000000 0000000O0000 300000000
1000000Gauss 10000000000000000000000000000000000000
00000000000000000000000000000 LU-SGSO000000000000 i+j
00000000000000000 (13.532)0 i+;0000000000 (13.53b)0 i+;00000
000000000000 0D00000000000 i+j+k00000000000000000000
000000000000000000000000000000

0132 000000000000

Moo o Mmoo o
o 0o oo o c? c?
LU-SGS O c c
oooooood c c

00000 13.200000000000000DOO0O00ODOODODOOODO SMACAOOOODOOOOO
0000000 ood0e 00000000 ACODOODODOOOOOOODODUOODOOODODOOOOO
oo0oopoOooooo0o0ooooooooboooooooOD Av=02000000000000000O
OOooOcovpPO000O000O0O0OO g=10000000000000000000000000O00
0O AO000O0OO0O00D0DO0 vpCcOOOOOOOOOOO

! xkkxkkkxk Compute u* and v¥ by delta-form implicit method using Chakravarthy-Osher TVD scheme

SUBROUTINE IMPCO(u,v,uX,vX,p,z,10,i1,j0,jl,loct,fmax)

DIMENSION u(i0:i1,j0:j1),v(i0:i1,3j0:j1),uX(i0:i1,j0:j1),vX(i0:i1,j0:j1),p(i0:i1,3j0:j1), &
z(10:11,3j0:j1) ,hf(i0:i1) ,ru(i0:i1,j0:j1),rv(i0:i1,jO:j1),rhs(2,i0:1i1,j0:j1), &
a(120,120,3),b(120,120),c(0:4,i0:i1,j0:j1) ,w1(i0:i1) ,w11(i0:i1),w2(jO:j1), &
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w21(jO:j1),10(2),locf(2,8) ,fmax(8)
COMMON //na,Re,dx,dy,dt
theta=1.
DO i=i0,il; j00=0; IF(i>0)j00=j0O
FORALL (j=j00:j1)w2(j)=u(i,j)
CALL INTUX(w2,w21,j0,j1,3j00)
FORALL (j=j00:j1)uX (i, j)=w21(j)
ENDDO
DO j=jO+1,j1-1; i00=0.; IF(j>0)i00=1i0
FORALL (1=100:i1)wl(i)=v (41, j)
CALL INTVX(wl,w11,i0,i1,i00)
FORALL (i=100:i1)vX (i, j)=wll (i)

ENDDO

! Compute convection term using Chakravarthy-Osher TVD scheme

DO j=jO,j1-1; i00=0; IF(j>=0)i00=i0 'hf=uu_P(uu at point P)
FORALL (i=i0:i1)wl(i)=u(i, j)
CALL INTUP(w1l,w11,i0,i1,i00) 'wll=u_P
i=i0 ; hf(i)=w11(i)*wl1(i) 'near inlet
i=0 ; uwP=(12.*u(i+1,j)-u(i+2,3j))/32.; hf(i)=uP*uP 'near step, u_0j=(u_x)_0j=0
i=il-1; hf(i)=w11(i)*w11(i) 'near outlet
i=i1 ; uwP=(3.*u(i,j)-u(i-1,j))/2.; hf(i)=uP*uP Inearby outside of outlet

cycle_1: DO i=i00+1,i1-1; uP=w11(i)

m=1; IF(uP>0.)m=-1; ip=i+m

IF(i==i1-1.AND.m==1)CYCLE cycle_1

du=u(i+1,j)-u(i,j); dul=u(ip+1,j)-u(ip,j)

hf (i) =uP*uP+ABS (uP) * (-du/2.+AMINMOD (dul,4. *du) /6 .+AMINMOD (du,4. *dul) /3.)
ENDDO cycle_1

FORALL (i=i00+1:i1)ru(i,j)=(hf (i)-hf(i-1))/dx !residuals of NSu eqn
ENDDO
DO i=i0+1,i1; j00=0; IF(i>0)j00=jO Ihf=vu at X
j=j00 ; hf(j)=0. 'bottom
j=jO0+1; hf(j)=vX(i,j)*(3.*u(i,j-1)+2.%u(i,j)-u(i,j+1)/5.)/4. !'bottom wall neighboring point
3=j1-1 ; hf(§)=vX(i,j)*(3.*u(i,j)+2.%u(i,j-1)-u(i,j-2)/5.)/4. Ineighbor top
j=j1 ; hf(j)=0. !top

cycle_2: DO j=jO0+1,ji-1
uX0=uX(i,j); vX0=vX(i,j)
m=1; IF(vX0>0.)m=-1; jp=j+m
IF(J==j00+1.AND.m==-1 .OR. j==j1-1.AND.m==1)CYCLE cycle_2
du=u(i,j)-u(i,j-1); dul=u(i,jp)-u(i,jp-1)
hf (j) =vX0*uX0+ABS (vX0) * (-du/2.+AMINMOD (dul, 4. *du) /6 .+AMINMOD (du,4.*dul) /3.)
ENDDO cycle_2

FORALL (j=3j00:j1-1)ru(i, j)=ru(i, j)+(hf (j+1)-hf(j))/dy !residuals of NSu eqn
ENDDO
DO j=jO+1,j1-1; i00=0; IF(j>0)i00=i0 thf=uv at X
i=i00; hf(i)=0. !inlet and step
i=10+1; hf(i)=uX(i,j)*(v(i-1,j)+v(i,j))/2. 'neighbor inlet
i=1; hf (i)=uX(i,j)*(3.*v(i-1,j)+2.xv(i,j)-v(i+1,j)/5.)/4. 'neighbor step
i=i1-1; hf(i)=uX(i,j)*(-v(i-2,j)+6.*v(i-1,j)+3.*%v(i,j))/8. 'neighbor outlet
i=il ; hf(Q)=uX(i,j)*(-v(i-2,j)+3.*v(i-1,7))/2. toutlet

cycle_3: DO i=i00+2,i1-1; uXO0=uX(i,j); vX0=vX(i,j)
m=1; IF(uX0>0.)m=-1; ip=i+m
IF(i==i1-1.AND.m==1)CYCLE cycle_3
dv=v(i,j)-v(i-1,j); dvi=v(ip,j)-v(ip-1,j)
hf (i) =uX0*vX0+ABS (uX0)* (-dv/2.+AMINMOD (dv1,4.*dv)/6.+AMINMOD (dv,4.*dv1)/3.)
ENDDO cycle_3
FORALL(i=i00:i1-1)rv(i,j)=(hf (i+1)-hf(i))/dx !residuals of NSv eqn
ENDDO
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DO i=i0,il-1; j00=0; IF(i>=0)j00=jO

FORALL (j=jO:j1)w2(j)=v(i,j)

CALL INTVP(w2,w21,3j0,31,300)

§=j00 ; hf(§)=w21(j)*w21(j)

j=j1-1; hf(§)=w21(j)*w21(j)

DO j=j00+1,j1-2; vP=w21(j)
m=1; IF(vP>0.)m=-1; jp=j+m
dv=v(i,j+1)-v(i,j); dvi=v(i,jp+1)-v(i,jp)

'hf=vv at P

'w21l=v_P
!near bottom
'near top

hf (j)=vP*vP+ABS (vP) * (-dv/2.+AMINMOD (dv1,4.*dv) /6. +AMINMOD(dv,4.*dv1)/3.)

ENDDO

FORALL (j=jOO+1:j1-Drv(i, jd=rv(i, j)+(hf (j)-hf (j-1))/dy
ENDDO
! Compute pressure and viscous terms, and residuals of NS eqn
DO i=i0+1,il; jO0=0; IF(i>0)j00=j0O

!residuals of NSv eqn

FORALL (j=j00:j1-1)ru(i, j)=ru(i, j)+(p(i,j)-p(i-1,3))/dx+(z(i,j+1)-z(i,j))/dy/Re

ENDDO
DO i=i0,i1-1; j00=0; IF(i>=0)j00=jO

FORALL (j=jOO+1:j1-1)rv(i,j)=rv(i,j)+(p(i,j)-p(i,j-1))/dy-(z(i+1,j)-z(i,j))/dx/Re

ENDDO

! Compute u* by implicit SMAC-scheme

ttx=theta*dt/dx; tty=thetaxdt/dy

FORALL (i=10+1:0,j=j0:-1,1=1:4)c(1,i,j)=0.

FORALL (i=10+1:0, j=j0:-1) c(0,i,j)=1.

DO i=iO+1,il; jO0=0; IF(i>0)j00=j0O
FORALL (j=j00+1:j1-2)w2(j)=vX(i,j)

CALL INTVP(w2,w21,3j0,j1,j00)

DO j=3j00,j1-1
up=(u(i,j)+ABS(u(i,j)))/2.; um=(u(i,j)-ABS(u(i,j)))/2.
vp= (w21 (j)+ABS(w21(j)))/2.; vm=(w21(j)-ABS(w21(j)))/2.
c(1,i,j)=-ttx*(up+l./dx/Re)
c(2,i,j)= ttxx(um-1./dx/Re); IF(i==il)c(2,i,j)=0.
c(3,i,j)=-tty*(vp+1./dy/Re)
c(4,i,j)= ttyx(vm-1./dy/Re)
c(0,i,j)=1.-c(1,i,j)-c(2,i,j)-c(3,i,j)-c(4,i,])
rhs(1,1i,j)=-dt*ru(i, j)

ENDDO; ENDDO

! Computation du* by modified AF-method

DO j=jO,j1-1; 1=j-jO+1; DO i=iO+1,il; k=i-i0
a(l,k,1)=c(1,i,j); a(l,k,2)=c(0,i,j); a(l,k,3)=c(2,i,])
b(1,k)=rhs(1,1,j)

ENDDO; ENDDO

CALL GAUSSZ(a,b,120,j1-j0,i1-i0)

FORALL(j=jO:j1-1,i=i0+1:i1)rhs(1,1i,j)=b(j-jO+1,i-i0)

DO j=jO,j1-1; 1=j-jO+1; DO i=iO+1,il; k=i-i0
a(k,1,1)=c(3,i,j); a(k,1,2)=c(0,i,j); a(k,1,3)=c(4,i,])
b(k,1)=c(0,i,j)*rhs(1,i,j)

ENDDO; ENDDO

CALL GAUSSZ(a,b,120,i1-i0,j1-30)

FORALL(j=jO:j1-1,i=i0+1:i1)rhs(1,1i,j)=b(i-i0,j-jO+1)

D0 j=jO,j1-1; i00=0; IF(j>=0)i00=i0
FORALL (i=i00+1:i1)u(i,j)=u(i,j)+rhs(1,i,]j)

ENDDO

! Compute v* by implicit SMAC-scheme

FORALL (i=i10:-1,j=j0+1:0,1=1:4)c(1,i,j)=0.

FORALL(i=i0:-1,j=j0+1:0) c(0,i,j)=1.

DO j=jO+1,j1-1; i00=0; IF(j>0)i00=i0
FORALL (i=i00:i1-1)wl(i)=uX(i,j)

'w21=v_U

!coefs of linear eqgs
'outlet

'rhs of linear egs

tdu**

tdux*

lux at U

25
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CALL INTUP(wl,w11,i0,i1,i00)

i=0; IF(j<=0)wil(i)=(12.*uX(i+1,j)-uX(i+2,j))/32.

DO i=i00,i1-1
up= (w11 (i) +ABS(w11(i)))/2.; um=(wll(i)-ABS(w1l1(i)))/2.
vp=(v(i,j)+ABS(v(i,j)))/2.; wm=(v(i,j)-ABS(v(i,j)))/2.
c(1,i,j)=-ttx*(up+l./dx/Re)
c(2,1,j)= ttxx(um-1./dx/Re); IF(i==il1-1)c(2,1,j)=0.
c(3,1,j)=—tty*(vp+l./dy/Re)
c(4,i,j)= ttyx(vm-1./dy/Re)
c(0,i,j)=1.-c(1,i,j)-c(2,i,j)-c(3,i,j)-c(4,i,])
rhs(2,1i,j)=-dt*rv(i,j)

ENDDO; ENDDO

! Computation dv* by modified AF-method

DO j=jO+1,ji-1; 1=j-jO; DO i=i0,i1-1; k=i-i0+1
a(l,k,1)=c(1,i,j); a(l,k,2)=c(0,i,j); a(l,k,3)=c(2,1i,])
b(1,k)=rhs(2,i,j)

ENDDO; ENDDO

CALL GAUSSZ(a,b,120,j1-j0-1,i1-i0)

FORALL (j=jO+1:j1-1,i=40:i1-1)rhs(2,4,j)=b(j-j0,1-i0+1)

DO j=jO+1,ji-1; 1=j-jO; DO i=i0,il1-1; k=i-i0+1
a(k,1,1)=c(3,1i,j); a(k,1,2)=c(0,i,j); a(k,1,3)=c(4,i,])
b(k,1)=c(0,1i,j)*rhs(2,1,]j)

ENDDO; ENDDO

CALL GAUSSZ(a,b,120,i1-i0,j1-j0-1)

FORALL (j=jO+1:j1-1,i=40:i1-1)rhs(2,i,j)=b(i-i0+1,j-jO)

DO j=jO+1,ji-1; i00=0; IF(j>0)i00=i0
FORALL(i=i00:i1-1)v(i,j)=v(i,j)+rhs(2,1,])

ENDDO

1o=MAXLOC(uq); FORALL (k=1:2)1locf(k,1)=1lo(k); fmax(1)=MAXVAL (uq)

1o=MINLOC(uq); FORALL (k=1:2)1locf(k,2)=lo(k); fmax(2)=MINVAL (uq)

1lo=MAXLOC(vq); FORALL (k=1:2)1locf (k,3)=1lo(k); fmax(3)=MAXVAL(vq)
1lo=MINLOC(vq); FORALL (k=1:2)1locf (k,4)=1lo(k); fmax(4)=MINVAL(vq)

END SUBROUTINE IMPCO

! #xxx*% MINMOD function

FUNCTION AMINMOD (a,b)

s=SIGN(1.,a); AMINMOD=s*MAX(0.,MIN(ABS(a),s*b))

END FUNCTION

! #xxx*x Interpolate values at P from values at U

SUBROUTINE INTUP(u,ul,nO,n1,n00)

DIMENSION u(nO:n1),ul(nO:n1)

FORALL (i=n00+1:n1-2)ul (i)=(-u(i-1)+9.* (u(i)+u(i+1))-u(i+2))/16.
i=n00; ul(i)=(3.*u(i)+6.*u(i+1)-u(i+2))/8.

i=ni-1; ul(i)=(3.*u(i+1)+6.*u(i)-u(i-1))/8.

END SUBROUTINE INTUP

! x*x*x*x Interpolate values at P from values at V

SUBROUTINE INTVP(u,ul,nO,n1,n00)

DIMENSION u(nO:nl1),ul(n0O:nl)

FORALL (j=n00+1:n1-2)ul (j)=(-u(j-1)+9.* (u(j)+u(j+1))-u(j+2))/16.
j=n00; ul(j)=(12.*u(j+1)-u(j+2))/32.

j=ni-1; ul(j)=(12.%u(j )-u(j-1))/32.

END SUBROUTINE INTVP

! x*x*x*x Interpolate values at X from values at U

SUBROUTINE INTUX(u,ul,n0,n1,n00)

DIMENSION u(nO:n1),ul(nO:n1)

FORALL (j=n00+2:n1-2)u1(j)=(-u(j-2)+9.*(u(j-1)+u(j)) -u(j+1))/16.
j=n00 ; ul(j)=0.

lwil=u_V
'near step

!coefs of linear eqgs
'near outlet

'rhs of linear egs

tdv**

ldv*

lvx at V
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j=n00+1; ul(j)=(3.*u(j-1)+2.*u(j)-u(j+1)/5.)/4.
j=ni-1 ; u1(j)=(3.*u(j)+2.*u(j-1)-u(j-2)/5.)/4.
j=n1 ; ul(j)=0.
END SUBROUTINE INTUX
! x*x*x*x Interpolate values at X from values at V
SUBROUTINE INTVX(u,ul,n0,n1,n00)
DIMENSION u(nO:nl1),ul(n0O:nl)
FORALL (i=n00+2:n1-2)ul (i)=(-u(i-2)+9.* (u(i-1)+u(i))-u(i+1))/16.
i=n00 ; ul(i)=0.
i=n00+1; ul(i)=(3.*u(i-1)+2.*u(i)-u(i+1)/5.)/4.
i=n1-1 ; u1(i)=(3.*u(i)+6.*u(i-1)-u(i-2))/8.
i=n1  ; ul(@)=(3.*u(i-1)-u(i-2))/2.
END SUBROUTINE INTVX
! x**x*x Solve simultaneous linear eqns with tri-diagonal matrix by Gauss elimination
SUBROUTINE GAUSSZ(a,b,ml,m,n)
DIMENSION a(ml,m1,3),b(ml,ml)
DO k=1,n-1; DO 1=1,m
b(1,k)=b(1,k)/a(l,k,2); a(l,k,3)=a(l,k,3)/a(l,k,2)
b(1l,k+1) =b(1l,k+1) -a(l,k+1,1)*b(1,k)
a(l,k+1,2)=a(l,k+1,2)-a(l,k+1,1)*a(1,k,3)
ENDDO; ENDDO
FORALL(1=1:m)b(1,n)=b(1,n)/a(l,n,2)
DO k=n-1,1,-1
FORALL (1=1:m)b(1,k)=b(1,k)-a(l,k,3)*b(1,k+1)
ENDDO
END SUBROUTINE GAUSSZ

0000000000 OSMACADOOOOD (13472)000000O0O
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13.6 U0O0OO0OOODOOOOOOOO0OO0OO

0000 (cartesian coordinates) J 0000000 (general curvilinear coordinates) 0 ¢ 0 00 300
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13.7 0O0ODOOD0OOO SMAC AOODOO
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PROGRAM MAIN
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Flow Problem: 2D Incompressible Flow through Backward Facing Stepped Duct

Numerical Method: General Curvilinear Coordinate Grid, SMAC Delta-Form Implicit Method,
Chakravarthy-Osher TVD Scheme
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PARAMETER (if=140,jf=25)

DIMENSION x(2,0:if,0:jf),UJ(2,0:if,0:jf),u(2,0:if,0:jf),p(0:if,0:jf),phi(0:if,0:jf), &
z(0:if,0:jf) ,UJX(2,0:1f,0:j£) ,£(0:if,0:jf) ,co(0:1if,0:jf,-1:1,-1:1),10cf(2,8) ,fmax(8)

COMMON //n,Re,dt,i0,j0,lowRe,steady,unsteady

COMMON /COMPUZ1/UJX

LOGICAL lowRe,steady,unsteady

CHARACTER*4 z1,z2; CHARACTER*10 z3(8)

DATA nf,mf,Re,dt,Mode/5000,5,1000.,1.,2/ Inf=max n, mf=max(m), Re=Reynolds number

i0=if-1; jO=jf-1

! Mode=1: for low Re steady flow

! Mode=2: for high Re steady flow

! Mode=3: for low Re unsteady flow

! Mode=4: for high Re unsteady flow

steady = (Mode==1 .0R. Mode==2)

unsteady = (Mode==3 .0R. Mode==4)

lowRe = (Mode==1 .0OR. Mode==3)

CALL GRID(x,if,jf) lgrid generation

CALL METRIC(x) 'metrics, metric tensors
CALL COEF(co) !coefficients of press-fde
IF (steady)CALL PREDCT(x,UJ,u,p) !predict JU and p

IF (unsteady)READ(10)x,UJ,u,p lundteady: initial data
CALL COMPUZ(UJ,u,z,locf,fmax,CFLmax) !velocities vorticity & divergence

OPEN (20,FILE=’0UTPUT.dat’)
WRITE(20,60); IF(unsteady)WRITE(20,61)

n=0; 100 n=n+1 'n: step

m=0; 101 IF(unsteady)m=m+1 'm: approx

CALL COMPU1(m,UJ,u,p,z,locf,fmax) !compute JU™*

CALL COMPP (UJ,p,phi,co,resP,locf,fmax) !compute phi and p

CALL COMPU2(UJ,phi) !compute JU

CALL COMPUZ(UJ,u,z,locf,fmax,CFLmax) !velocities vorticity & divergence

! Decide convergence and output computational results
IF(MOD(n,20)==0 .AND. (steady.OR.m==1))THEN
i=if; resNS=0.
resNS=AMAX1(fmax (1) ,-fmax(2) ,fmax(3) ,-fmax(4))
flow=3./8.*(3.%UJ(1,i,0)+UJ(1,i,1)+UJ(1,1,23)+3.%UJ(1,i,24)) loutlet flow rate
DO j=1,23,2; flow=flow+(UJ(1,i,j)+4.%UJ(1,i,j+1)+UJ(1,1,j+2))/3.; ENDDO
CALL CPU_TIME (sec)
WRITE(20,62)n,resNS,resP,CFLmax,flow,sec !print residuals
ENDIF
60 FORMAT(/1H 3X ’n’, 6X ’resNS’, 6X ’resP’, 7X ’CFLmax’, 4X ’outflow’, 5X ’CPU-time’/)
61 FORMAT(1H 5X ’m’, 6X ’resNS’, 6X ’resP’/)
62 FORMAT(1H 15, 2F11.5, 2X F9.3, F11.5, 2X F9.2)

IF(resNS>2. .0OR. resP>2.) GOTO 110 !diverge
IF (resNS<.0001 .AND. resP<.0001)THEN !converge
IF (steady) GOTO 110
IF (unsteady) GOTO 111
ENDIF
IF (unsteady . AND . m<mf) GOTO 101 'unsteady: (m) -approx
111 IF(n<nf) GOTO 100 !n-step
110 CONTINUE
DO k=1,6
SELECT CASE (k)
CASE(1); FORALL(i=0:if,j=0:jf)f(i,j)=x(1,1i,j) ; z1=" x"; z2=" "; =0
CASE(2); FORALL(i=0:if,j=0:j£)£(i,j)=x(2,i,j) ; z1=" y"; z2="  "; mz= 0
CASE(3); FORALL(i=0:if,j=0:jf)f(i,j)=u(1,i,j) ; z1=" u"; z2=" ", =0
CASE(4); FORALL(i=0:if,j=0:jf)f(i,j)=u(2,i,j) ; z1=" v"; z2=" "s mz= 0
CASE(5); FORALL(i=0:if,j=0:j£)f(i,j)=p(i,]j) ; zl=" p"; z2="%10 "; =1



36 gmoooogooo—MACOOO OO

CASE(6); FORALL(i=0:if,j=0:j£)f(i,j)=z(i,j) ; zl="zeta"; z2="/10 "; mz=-1

ENDSELECT 'mz:scale factor

CALL WRTF(f,z1,z2,mz,n) !print out computational results
ENDDO
CALL REATTACH(x,UJ,UJX,if,jf,xrap,k) !compute reattachment point xrap
WRITE(20,’ (5X A7,F5.1,3X I4)’)’xrap = ’,xrap,k !print out xrap
! Output locations and values of maximum and minimum of residuals and divergence
DATA z3/’maxUq =’,’minUq =’,’maxVq =’,’minVq =’,’maxphi =’,’minphi =’,’maxdiv =’,’mindiv =’/

FORALL (k=1:2,i=1:8)locf (k,i)=locf (k,i)-1

DO i=1,8; WRITE(20,’ (5X A10,2I4,3X E10.3)’)z3(i), (locf (k,i),k=1,2),fmax(i); ENDDO

CALL StepDF_CG(x,u,p,z,if,jf) !computer graphics for steady
CLOSE(20)

END PROGRAM MAIN

! sxkkxkkkkk* Generate curvilinear coordinate grid by analytical method

SUBROUTINE GRID(x,if,jf) 'if=140, j£=25

! Generate by sloving boundary value problem of elliptic pde

DIMENSION x(2,0:if,0:jf),x0(2,0:if,0:jf),xxi(4,0:if,0:jf),aJ(0:if,0:jf),g(3,0:if,0:jf), &
P(0:if,0:jf),Q(0:if,0:jf) ,£(0:1if,0:jf)

CHARACTER*4 z1

DATA dxi,det,all/3%1./

nf=200; i1=35; i2=40; i0=if-1; jO=jf-1

OPEN (20,FILE=’0UTPUT.dat’)

! x*k*x*x Give values of grid coordinates on boundaries by geometrical series

! atartar”2+...+ar"(n-1)=a(r"n-1)/(r-1)

x(1,i1,0)=0.; x(2,i1,0)=0.

DO i=i1-1,0,-1

x(1,1,0)=x(1,i+1,0)-.09975*1.055**(i1-i-1); x(2,i,0)=0. 'bottom wall
ENDDO
DO i=il+1,i2

x(1,i,0)=0.; x(2,i,0)=x(2,i-1,0)-.10045%1.35%*(i-i1-1) Istep wall
ENDDO
DO i=i2+1,70

x(1,i,0)=x(1,i-1,0)+.2%1.05*%*(i-i2-1) 'bottom wall
ENDDO
FORALL (i=71:if)x(1,1,0)=x(1,70,0)+.8232*FLOAT (i-70) !'bottom wall
FORALL(i=i2:if)x(2,i,0)=-1.
FORALL(i=0:if)x(2,i, jf)=3. 'top wall

! #xxx* Give predict values of x on top bound

FORALL(i=0:i1)  x(1,i,jf)=x(1,1,0)

FORALL (i=i1+1:i2)x(1,i,jf)=x(1,i1,jf)-x(2,1,0)

FORALL (i=i2+1:if)x(1,i,jf)=x(1,i2,jf)+(x(1,if,0)-1.)/x(1,if,0)*x(1,1i,0)

! #xx*x* Determine starting values of x,y by interporation

DO i=0,if; DO j=1,j0
et=j/FLOAT (jf); alp=(-et*et+l.B*et+.4)*et
! The cubic polynomial is formed to satisfy the conds of £(0)=0, f(1)=1, £’(0)=.4, £’(1)=.6
! for finer grid near walls. But it is impossible sufficiently to control grid spaces by it.
x(1,i,j)=(1.-alp)*x(1,i,0)+alp*x(1,i,jf)
x(2,1,j)=(1.-alp)*x(2,1,0) +alp*x (2,1, jf)

ENDDO; ENDDO

n=0; 100 n=n+1; IF(n==10)all=1.4

! #xxx* Compute x_xi y_xi x_eta y_eta

DD 1=1,2
FORALL (i=1:i0,j=0:jf)xxi(1 ,i,j)=(x(1,i+1,j)-x(1,i-1,j))/2./dxi 'x_xi, y_xi
FORALL (i=0:if,j=1:j0)xxi(1+2,1,j)=(x(1,1i,j+1)-x(1,1,j-1))/2./det 'x_eta, y_eta

FORALL (j=0:jf)xxi(1 , 0,j)=-(3.#x(1, 0,j)-4.*x(1, 1,j)+x(1, 2,j))/2./dxi
FORALL (j=0:jf)xxi(1 ,if,j)= (3.*x(1,if,j)-4.*x(1,i0,j)+x(1,i0-1,j))/2./dxi
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FORALL(i=0:if)xxi(1+2,i, 0)=-(3.*x(1,i, 0)-4.*x(1,i, D+x(1,i, 2))/2./det
FORALL (i=0:if)xxi(1+2,i,jf)= (3.*x(1,i,jf)-4.*x(1,i,jO)+x(1,i,jO-1))/2./det
ENDDO
! xk*xx Compute J J72; xi_x eta_x xi_y eta_y; g_11 g_12 g_22
FORALL (i=0:if,j=0:jf)

aJ(i,j)=xxi(1,1,j)*xxi(4,1i,j)-xxi(3,1,j)*xxi(2,1i,j) 'J

g(1,i,j)=C(xxi(1,i,j)*xxi(1,1,j)+xxi(2,1,])*xxi(2,1,3))/al(4,]) 'lg_11/3

g(2,1,3)=(xxi(1,1,)*xxi(3,1,])+xxi (2,1, ) *xxi(4,1,j))/al(i,]) 1g_12/J

g(3,1,j)=(xxi(3,1,j)*xxi(3,1,j) +xxi(4,1,j)*xxi(4,1i,j))/al(i,]) lg_22/3
ENDFORALL

! x**x*x Compute control functions P and Q

! P: control il-line and i2-line, Q: control grid spacing of j-direction

FORALL(i=0:if,j=0:jf)P(i,j)=0.

FORALL(i=0:if, j=0:j£)Q(i, j)=0.

FORALL(i=1:i1-1,j=1:3j£)P(i,j)=2./(x(1,i+1,0)-x(1,i-1,0)) & 'xi_xx
*(1./(x(1,i+1,0)-x(1,1,0))-1./(x(1,1,0)-x(1,i-1,0)))

FORALL (i=i1+1:i2-1,3j=1:15)P(i,j)=(15-3)/15.%2./(x(2,i+1,0)-x(2,i-1,0)) & 'c*xi_yy
*(1./(x(2,i+1,0)-x(2,1,0))-1./(x(2,1,0)-x(2,i-1,0)))

FORALL(i=i2+1:i0,j=1:10) P(i,j)=(10-j)/10.%2./(x(1,i+1,0)-x(1,i-1,0)) & !c*xi_xx
*(1./(x(1,i+1,0)-x(1,i,0))-1./(x(1,i,0)-x(1,i-1,0)))

FORALL (j=1:j£)P(il,j)=(P(i1-1,j)+P(il1+1,3j))/2.

FORALL (j=1:j£)P(i2, j)=(P(i2-1,j)+P(i2+1,3j))/2.

DO i=0,if; DO j=1,jf

coef=25./(x(2,1i,j£)-x(2,1,0))/(x(2,1,jf)-x(2,1,0)) 'coef=(d eta/d te)*(d
ty=(x(2,i,j)-x(2,1,0))/(x(2,i,jf)-x(2,1,0)) 'ty=(y-y_0)/(y_f-y_0)
' Q(i,j)=coef*(6.xty-4.) Ite(ty)=ty~3-2ty~2+2ty te’(0,.5,1)=(12/6 4.5/6
Q(i,j)=coef*(8.*ty-5.) lte(ty)=(8ty~3-15ty~2+13ty) /6 ty’ =(13/6 4/6
Q(i,j)=coef*(10.*ty-6.) 'te(ty)=(5ty~3-9ty~2+7ty) /3 te’ =(14/6 3.5/6
Q(i,j)=coef*(12.*ty-7.) 'te(ty)=(4ty~3-Tty 2+5ty)/2 te’ =(15/6 3/6
Q(i,j)=coef*(18.*ty-10.) 'te(ty)=3ty~3-5ty~2+3ty te’ =(18/6 1.5/6

for all te(ty), te(0, .5, 1.0)=(0, .625, 1.0),
Q=d"2eta/dy~2=(d ty/dy) ~2*te’’ (ty)*(d eta/d te)=coef*te’’(ty)
Lower Q’s correspond to grids whose spaces are larger difference.
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ty/dy) "2

6/6)
7/6)
8/6)
9/6)
12/6)

IF(i>i1.AND.i<i1+10.AND. j<10) & 'modify grid spaces near cormer

Q(i,j)=Q(i,j)—coef*12.*(1.—FLOAT(j)/10.)*(1.—ABS(i1+5—i)/5.)
ENDDO; ENDDO
! #xx*xx Solve difference eqs of L(x)=-J(x_xiP+x_etaQ), L(y)=-J(y_xiP+y_etaQ) by SOR
FORALL (1=1:2,i=0:if,§=0:3j£)x0(1,i,j)=x(1,1,3)
nn=0; 110 nn=nn+1
DO 10 1=1,2; DO 10 i=1,i0; DO 10 j=1,jO

w=(g(3,i,j)*(x(1,i-1,j)+x(1,i+1,3)) &
-g(2,1,j)*(x(1,i-1,j-1)-x(1,i-1,j+1)-x(1,i+1,j-1)+x(1,i+1,j+1))/2. &
+g(1,i,3)*x(x(1,1,j-1)+x(1,1,j+1)) &

+aJ(i,j)*(xxi(1,1,j)*P(i,j)+xxi(1+2,1i,3)*Q(1,j)))/2./(g(1,i,j)+g(3,1,3))
10 x(1,1i,j)=x(1,1i,j)+all*(w-x(1,i,3))
j=jf; DO 11 i=1,i0 'top wall
w=(g(3,1i,j)*(x(1,i-1,j)+x(1,i+1,j))+g(1,i,j)*2.*x(1,i,j-1) &
+aJ(i,j)*(xxi(1,1,j)*P(i,j)+xxi(3,1,3)*Q(1i,j)))/2./(g(1,1i,j)+g(3,1,3))
11 x(l,i,j)=x(1,i,j)+a11*(w—x(l,i,j))
i=0; DO 12 j=1,j0 'inlet bound
w=(g(3,1,j)%2.*x(2,1,j)+g(1,i,j)*(x(2,1,j-1)+x(2,1i,j+1)) &
+aJ(i,j)*(xxi(2,1,j)*P(i,j)+xxi(4,1,j)*Q(i,j)))/2./(g(1,i,3)+g(3,1,3))
12 x(2,1,7)=x(2,1,j)+all* (w-x(2,1,3j))
i=if; DO 13 j=1,j0 'outlet bound
w=(g(3,1,j)%2.%x(2,i-1,)+g (1,1, ) *(x(2,i,j-1)+x(2,i,j+1)) &
+aJ(i,j)*(xxi(2,1,j)*P(i,j)+xxi(4,1,j)*Q(i,j)))/2./(g(1,1i,)+g(3,1,3))
13 x(2,1i,j)=x(2,1i,j)+all*(w-x(2,1i,3))
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IF (nn<10) GOTO 110
! #xx*x* Decide convergence of x,y
adx=0.
DO i=0,if; DO j=1,j0
adx=AMAX1 (adx,ABS(x(1,i,j)-x0(1,1i,j))+ABS(x(2,i,j)-x0(2,1i,j))) 'dx|+]dyl

ENDDO; ENDDO

IF (n==1)WRITE(20,60)

IF(MOD(n,10)==0)WRITE(20,61) n,adx

60 FORMAT(/1H 3X ’n’, 7X ’adx’/)

61 FORMAT(1H 1I5, F11.5)

IF (n<nf.AND.adx>1.E-4.AND.adx<5.) GOTO 100
ENDSUBROUTINE GRID

! xkkxkkkkkk Computation of metrics and metric tensors
SUBROUTINE METRIC (x)
PARAMETER (if=140, j£=25,if1=280, j£1=50)
DIMENSION x(2,0:if,0:jf),x1(2,0:if1,0:jf1) ,xxi(4,0:if1,0:j£f1),aJ(0:if1,0:jf1), &
gu(3,0:if,0:j£f) ,gV(3,0:if,0:jf) ,xix(4,0:1f1,0:jf1) ,dxix(0:if,0:jf,2,4), &
w1(0:if) ,w2(0:jf) ,wl1(0:if1) ,w12(0:1if1),w21(0:jf1),w22(0:jf1)
COMMON //na,Re,dt,i0,jO,lowRe,steady,unsteady
COMMON /METRIC1/x1 /METRIC2/aJ /METRIC3/gU,gV /METRIC4/xix /METRIC5/dxix
! x%x%%*%x Determine x1
DO 1=1,2; DO j=0,jf
FORALL (i=0:if)w1(i)=x(1,i,j); CALL INTP(wl,wll,if)
FORALL(i=0:if1)x1(1,i,2*j)=wl1(i)
ENDDO; ENDDO
x1(1,69,0)=(-x(1,33,0)+6.*x(1,34,0)+3.*x(1,35,0))/8.; x1(2,69,0)=0.
x1(1,71,0)=0.; x1(2,71,0)=(3.%x(2,35,0)+6.%x(2,36,0)-x(2,37,0))/8.
x1(1,79,0)=0.; x1(2,79,0)=(-x(2,38,0)+6.*x(2,39,0)+3.%x(2,40,0))/8.
x1(1,81,0)=(3.*x(1,40,0)+6.*x(1,41,0)-x(1,42,0))/8.; x1(2,81,0)=-1.
DO 1=1,2; DO i=0,if1
FORALL (j=0:jf)w2(j)=x1(1,i,2*j); CALL INTP(w2,w21,jf)
FORALL (j=0:jf1)x1(1,1i,j)=w21(j)
ENDDO; ENDDO
! **kx¥*%x Determine xxi, J
DO 1=1,2; DO j=0,jf1
FORALL(i=0:if1)wi11(i)=x1(1,1i,j); CALL DIFX(wl1l,w12,if1,.5)
FORALL (i=0:if1)xxi(1,1,j)=w12(i) 'x_xi y_xi at point X
ENDDO; ENDDO
DO 1=1,2; DO i=0,if1
FORALL (j=0:jf1)w21(j)=x1(1,i,j); CALL DIFX(w21,w22,jf1,.5)
FORALL (j=0:jf1)xxi(1+2,1i,j)=w22(j) !x_eta y_eta at X
ENDDO; ENDDO
FORALL (i=0:if1,j=0:jf1)aJ(i,j)=xxi(1,1i,j)*xxi(4,1,j)-xxi(3,1,j)*xxi(2,i,j) !Jacobian J
! #x**xx Determine g_11/J g_12/J g_22/J at U and V
DO i=0,if; ii=2%i; DO j=0,j0; jj=2%j+1
gU(1,i,j)=(xxi(1,ii,jj)*xxi(1,1i1,jj)+xxi(2,1i1,jj)*xxi(2,1ii,jj))/aJ(ii,jj) !'g_11/J at U
gu(2,i,j)=(xxi(1,ii,jj)*xxi(3,1ii,jj)+xxi(2,1ii,jj)*xxi(4,1ii,jj))/aJ(ii,jj) 'g_12/J at
gU(3,1,j)=(xxi(3,ii,jj)*xxi(3,1ii,jj)+xxi(4,ii,jj)*xxi(4,1i,jj))/al(ii,jj) !'g_22/J at U
ENDDO; ENDDO
DO i=0,i0; ii=2*i+1; DO j=0,jf; jj=2%j
gV(1,i,j)=(xxi(1,1ii,jj)*xxi(1,1i1,jj)+xxi(2,1i1,jj)*xxi(2,1ii,jj))/aJ(ii,jj) !'g_11/J at V
gV(2,i,j)=(xxi(1,1ii,jj)*xxi(3,1i1,jj)+xxi(2,1i1,jj)*xxi(4,1ii,jj))/aJ(ii,jj) 'g_12/J at
gV(3,i,j)=(xxi(8,1ii,jj) *xxi(3,1ii,jj) +xxi(4,ii,jj)*xxi(4,1ii,jj))/at(ii,jj) !'g_22/J at V
ENDDO; ENDDO
! *%x¥*% Determine xix
DO i=0,if1; DO j=0,jf1l

(=)

<
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xix(1,i,j)= xxi(4,1,j)/aJ(i,j); xix(2,1,j)=-xxi(3,1,j)/aJ(i,]) 'xi_x, xi_y at X
xix(3,1,j)=-xxi(2,1,j)/al(i,j); xix(4,i,j)= xxi(1,i,j)/aJ(i,j) leta_x, eta_y at X
ENDDO; ENDDO
! #xxx* Determine (xi_x)_xi
DO j=0,3j0; jj=2%j+1
DO i=1,i0; ii=2%*i
dxix(i,j,1,1)=xix(1,ii+1,jj)-xix(1,1ii-1,3j) '(xi_x)_xi at U
dxix(i,j,1,3)=xix(2,ii+1,jj)-xix(2,ii-1,jj) '(xi_y)_xi at U
ENDDO
dxix(if,j,1,1)=3.%xix(1,if1,jj) -4.*xix(1,if1-1,jj)+xix(1,if1-2,33)
dxix(if,j,1,3)=3.%xix(2,if1,jj)~4.*xix(2,if1-1,]j) +xix(2,if1-2,5j)
DO i=1,if; ii=2%*i
dxix(i,j,1,2)=xix(1,ii,jj+1)-xix(1,ii,jj-1) '(xi_x)_eta at U
dxix(i,j,1,4)=xix(2,ii,jj+1)-xix(2,ii,jj-1) '(xi_y) _eta at U
ENDDO; ENDDO
DO i=0,10; ii=2#i+1; DO j=1,3j0; jj=2%j
dxix(i,j,2,1)=xix(3,1ii+1,jj)-xix(3,1ii-1,jj) '(eta_x)_xi at V
dxix(i,j,2,3)=xix(4,ii+1,jj)-xix(4,ii-1,3jj) !(eta_y)_xi at V
dxix(1,j,2,2)=xix(3,1ii,jj+1)-xix(3,1ii,jj-1) !'(eat_x)_eta at V
dxix(i,j,2,4)=xix(4,1ii,jj+1)-xix(4,1ii,jj-1) !(eta_y)_eta at V
ENDDO; ENDDO
ENDSUBROUTINE METRIC
! skxxkkkkkkx Prediction of volume flux and pressure
SUBROUTINE PREDCT(x,UJ,u,p)
PARAMETER (if=140, j£=25,if1=280, j£1=50)
DIMENSION x(2,0:if,0:j£),UJ(2,0:if,0:j£),u(2,0:if,0:5£),p(0:if,0:j£),x1(2,0:if1,0:§£1), &
aJ(0:if1,0:j£1) ,xix(4,0:1f1,0:jf1)
COMMON //na,Re,dt,i0,jO,lowRe,steady,unsteady
COMMON /METRIC1/x1 /METRIC2/aJ /METRIC4/xix
! x**x*x Set up starting values of u, U and p
DO j=0,jf; ty=x1(2,0,2*j)/x1(2,0,jf1)
u(1,0,j)=6.*ty*(1.-ty) !mean velocity at inlet=1
ENDDO
DO j=0,j0; ty=x1(2,0,2%j+1)/x1(2,0,jf1)
UJ(1,0,j)=aJ(0,2%xj+1)*xix(1,0,2%j+1)*6.*ty*(1.-ty)
FORALL(i=1:if)UJ(1,1,3)=UJ(1,0,j)
ENDDO
Dp=1./2.-.75%.75/2. !recovery pressure in step duct
p0=(4./3.%10.+9./16.%70.9) /Re-Dp !inlet pressure

FORALL(i=0:35,3j=0:3j0)p(i, j)=p0+4./3.*(x(1, 0,j)-x1(1,2*i+1,2xj+1))/Re

FORALL (i=100:10,j=0:3j0)p(i,j)=9./16.%(x(1,if,j)-x1(1,2*i+1,2%j+1))/Re

FORALL (i=36:99, j=0:j0)p (i, j)=(p(100,j) *(x1(1,2%i+1,2*%j+1)-x1(1,71,2%j+1)) &
+p(35,3) *(x1(1,201,2%j+1) -x1(1,2%i+1,2%j+1))) /(x1(1,201,2%j+1) -x1(1,71,2%j+1))

ENDSUBROUTINE PREDCT

! xkkxkkkkkk Compute JU™* and JV™* by delta-form implicit method using Chakravarthy-Osher

! type TVD scheme

SUBROUTINE COMPU1(ma,UJ,u,p,z,locf,fmax)

PARAMETER(if=140,jf=25,if1=280,jf1=50)

DIMENSION UJ(2,0:if,0:jf),Uq(2,0:if,0:jf),u(2,0:if,0:jf),p(0:if,0:jf) ,z(0:1if,0:jf),
aJ(0:1f1,0:jf1),gU(3,0:if,0:jf) ,gV(3,0:if,0:jf) ,xix(4,0:if1,0:jf1),dxix(0:if,0:jf,2,4),
UJX(2,0:if,0:j£) ,hf (0:if) ,rhs(2,0:if,0:j£),rhs0(2,0:if,0:j£),UJ0(2,0:if,0:3f),
a(140,140,3),b(140,140) ,c(0:4,0:if,0:jf) ,£(0:1f,0:jf) ,w(0:if) ,w1(0:if),wl1(0:if1),
w12(0:1f1) ,w13(0:if1) ,w14(0:1if),w2(0:jf) ,w21(0:jf1) ,w22(0:jf1),w23(0:jf1),w24(0:jf),
1lo(2),l0cf(2,8),fmax(8)

COMMON //mna,Re,dt,i0,jO,lowRe,steady,unsteady

R
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COMMON /METRIC2/aJ /METRIC3/gU,gV /METRIC4/xix /METRIC5/dxix /COMPUZ1/UJX
LOGICAL lowRe,steady,unsteady

DATA theta,beta/l.,.5/ !theta:trapezoidal, beta:damping

FORALL(1=1:2,i=0:if,j=0:jf)rhs(1,1,j)=0.

IF (steady.AND.lowRe) THEN !for training

! x**x*x Compute convection term using central-differences

DO j=0,3;0
FORALL (i=0:if)w1(i)=UJ(1,i,j); CALL INTP(wl,wll,if) 'w11=JU_P(JU at poin P)
FORALL (i=0:1i0)hf (i)=w11(2%i+1)*wll(2%i+1)/aJ(2*i+1,2%j+1) 'hf=JUU_P
FORALL(i=1:i0)Uq(1,1i,j)=hf(i)-hf(i-1) 1JUU_xi

ENDDO

DO i=1,i0
FORALL (j=0: j£)hf(j)=UJX(2,1,j)*UJX(1,1,j)/aT(2*i,2%j) 'hf=JVU_X
FORALL (j=0:3j0)Uq(1,1i,j)=Uq(1,1i, j)+hf (j+1)-hf (j) ! +JVU_eta

ENDDO

DO j=1,30
FORALL(i=1:i0)hf (i)=UJX(1,i,j)*UJX(2,1,j)/aJ(2%i,2+*j) 'hf=JUV_X
FORALL(i=1:10-1)Uq(2,1, j)=hf (i+1)-hf (i) 1JUV_xi

ENDDO

DO i=1,i0-1
FORALL(j=0:jf)w2(j)=U0J(2,i,j); CALL INTP(w2,w21,jf) 'w21=JV_P
FORALL (j=0: jO)hf (j)=w21 (2% j+1)*w21(2*j+1) /aJ(2%i+1,2%j+1) 'hf=JVV_P
FORALL (j=1:3j0)Uq(2,1i,j)=Uq(2,1i, j)+hf (j)-hf(j-1) ! +JVV_eta

ENDDO

ELSE

! x*%*x*x Compute convection term using Chakravarthy-Osher TVD scheme

DO j=0,3;0
FORALL (i=0:if)w(i)=UJ(1,1,j)/aJ(2*i,2xj+1) lw =U
FORALL(i=0:if)w1(i)=UJ(1,i,j); CALL INTP(wl,wll,if) 'wl1=JU_P
i=0 ; hf (1)=wl1(2*i+1)*(w(i)+w(i+1))/2. 'near inlet
i=if-1; hf(i)=w1l1(2*i+1)*(w(i)+w(i+1))/2. 'near outlet

cycle_1: DO i=1,i0; UJP=w11(2%i+1)
m=1; IF(UJP>0.)m=-1; ip=i+m
IF(i==1i0.AND.m==1)CYCLE cycle_1
UP=(w(i+1)+w(i))/2.; dU=w(i+1)-w(i); dUl=w(ip+1)-w(ip)
hf (1) =UJP*UP+ABS (UJP) * (-dU/2.+AMINMOD (dU1,4.*dU) /6. +AMINMOD (dU,4.*dU1) /3.) !'hf=JUU_P
ENDDO cycle_1
FORALL (i=1:10)Uq(1,1i,j)=hf (i)-hf (i-1) 1JUU_xi
ENDDO
! x*x*x*x Correct convection term just behind cormer
FORALL (i=35:37)w(i)=UJ(1,1,0)*UJ(1,i,0)/aJ(2*i,1)
dum=w (36)-w(35); du=w(37)-w(36)
IF(UJ(1,36,0)<=0.)THEN; Uq(1,36,0)=AMINMOD((dum/du+1.)/2.,2.)*du
ELSE; Uq(1,36,0)=AMINMOD((du/dum+1.)/2.,2.)*dum; ENDIF

DO i=1,i0
FORALL (j=0:j0)w(j)=UJ(1,1i,j)/aJ(2%i,2%j+1) lw=U
j=0 ; hf(j)=0. 'bottom
j=1 ; hf(j)=UJX(2,i,j)*(3.*w(j-1)+2.*w(j)-w(j+1)/5.)/4. 'neighbor of bottom wall
j=jO; hf(j)=UJX(2,1i,j)*(B.*w(j)+2.*xw(j-1)-w(j-2)/5.)/4. 'neighbor top
j=jf; hf(j)=0. !top

cycle_2: DO j=1,j0; VJX=UJX(2,i,j)

m=1; IF(VJX>0.)m=-1; jp=j+m

IF(j==1.AND.m==-1 .QR. j==jO.AND.m==1)CYCLE cycle_2

UX=(w(j-D+w(j))/2.; dU=w(j)-w(j-1); dUl=w(jp)-w(jp-1)

hf (j) =VIX*UX+ABS (VJX) * (-dU/2. +AMINMOD (dU1,4.*dU) /6 . +AMINMOD (dU,4.*dU1) /3.) 'hf=JVU_X
ENDDO cycle_2
FORALL (j=0:3j0)Uq(1,1i,j)=Uq(1,i,j)+hf (j+1)-hf (j) ! +JVU_eta
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ENDDO
D0 j=1,j0
FORALL(i=0:10)w(i)=UJ(2,1i,j)/aJ(2*i+1,2%]j) lw=V
i=0 ; hf(i)=0.
i=1 ; hf(i)=UJX(1,1,j)*(w(i-1)+w(i))/2. Ineighbor inlet
i=i0; hf(i)=UJX(1,i,j)*(-w(i-2)+6.*w(i-1)+3.*w(i))/8. 'neighbor outlet

cycle_3: DO i=2,i0; UJX0=UJX(1,1i,j)

m=1; IF(UJX0>0.)m=-1; ip=i+m

IF(i==10.AND.m==1)CYCLE cycle_3

VX=(w(i-1)+w(i))/2.; dV=w(i)-w(i-1); dVi=w(ip)-w(ip-1)

hf (1) =UJX0*VX+ABS (UJX0) * (-dV/2.+AMINMOD (dV1,4.*dV) /6.+AMINMOD (dV,4.*dV1) /3.) 'hf=JUV_X
ENDDO cycle_3

FORALL (i=0:10-1)Uq(2,1i, j)=hf (i+1)-hf (i) 1JUV_xi
ENDDO
DO i=0,i0-1
FORALL (j=0:jf)w(j)=UJ(2,1i,j)/aJ(2*i+1,2%]) lw =V
FORALL (j=0: j£)w2(j)=UJ(2,i,j); CALL INTVP(w2,w21,jf) 1w21=JV_P
j=0 ; hf(j)=w21(2*j+1)*(12.*w(1)-w(2))/32. Inear bottom
j=jO; hf(j)=w21(2*j+1)*(12.*w(jO)-w(jO-1))/32. !near top

cycle_4: DO j=0,jO; VJIP=w21(2%j+1)
m=1; IF(VJP>0.)m=-1; jp=j+m
IF(j==0.AND.m==-1 .OR. j==j0.AND.m==1)CYCLE cycle_4
VP=(w(j)+w(j+1))/2.; dV=w(j+1)-w(j); dVi=w(jp+1l)-w(ip)
hf (j) =VJP*VP+ABS (VIP) * (-dV/2.+AMINMOD (dV1,4.*dV) /6. +AMINMOD (dV,4.*dV1)/3.) !'hf=JVV_P
ENDDO cycle_4
FORALL (j=1:3j0)Uq(2,1,j)=Uq(2,1i, j)+hf (j)-hf(j-1) I +JVV_eta
ENDDO
ENDIF
! x**x*x Compute convection term at outlet using upwind-difference scheme
D0 j=0,j0; i=if; Uq(1,i,j)=O0.
DO k=1,2
Uq(1,i,j) = Uq(l,i,j)+xix(k,2%i,2%j+1) &
*(UJ(1,1,j)*(uk,i,j)+u(k,i,j+1)-u(k,i-1,j)-u(k,i-1,j+1))/2. &
+(UJX(2,1,)+UJX(2,1,j+1)) /2. %(u(k,i, j+1)-u(k,i,j)))
ENDDO; ENDDO
DO j=1,j0; i=i0; Uq(2,i,j)=0.

DO k=1,2
Uq(2,1,j) = Uq(2,i,j)+xix(k+2,2+%i+1,2*]) &
*((UJX(1,i,§)+UIX(1,i+1,3)) /2. % (u(k,i+1,j)-u(k,i-1,3))/2. &

+UJ(2,1,j)*(u(k,i,j+D)+u(k,i+1, j+1)-u(k,i,j-1)-u(k,i+1,j-1))/4.)
ENDDO; ENDDO
! #xxx*% Compute additional, pressure and diffusion terms

DO i=1,if
FORALL(j=0:jf)w2(j)=u(1,i,j);  CALL INTP(w2,w21,jf) tw21=u_U
FORALL(j=0:jf)w2(j)=u(2,i,j);  CALL INTP(w2,w22,jf) 1w22=v_U
FORALL (j=0: j£)w2(j)=UJX(2,1,j); CALL INTP(w2,w23,jf) 1w23=JV_U

FORALL (j=0: jO)w2(j)=(p(i-1,3)+p(i,j))/2.; CALL DIFP(w2,w24,jf,1.) !'w24=(p_eta)_U
DO j=0,30; jj=2%j+1
ad = w21(jj)*(UJI(1,1,j)*dxix(i,j,1,1)+w23(jj)*dxix(i,j,1,2)) & 'additional term
+w22(§3)* (UI (1,4, ) *dxix(i,j,1,3)+w23(jj) *dxix(i,j,1,4))
IF(i==if)ad = 0.

pr = gU(3,1i,j)*(p(i,j)-p(i-1,3))-gU(2,1,j)*w24(j) !pressure term
Uq(1,i,j) = Uq(1,i,j)-ad+pr+(z(i,j+1)-z(i,j))/Re 'residuals of NS eqn
rhs(1,i,j) = -dtxUq(l,i,]) !rhs of linear eqns
ENDDO; ENDDO
D0 j=1,30

FORALL (i=0:if)wil(i)=u(l,1i,j); CALL INTP(wil,wl1l,if) 'wil=u_V
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FORALL(i=0:if)w1(i)=u(2,i,j);  CALL INTP(wl,wl2,if)
FORALL(i=0:if)w1(i)=UJX(1,i,j); CALL INTP(wl,w13,if)

lwi2=v_V
'w13=JU_V

FORALL (i=0:if)w1(i)=(p(i,j-1)+p(i,j))/2.; CALL DIFP(wl,wl4,if,1.) 'wid=(p_xi)_V

i=10; wi4(i)=(wi(i+1)-wi(i-1))/2.
D0 i=0,i0; ii=2%i+1

ad = wil(ii)*(w13(ii)=*dxix(i,j,2,1)+0J(2,1,j)*dxix(1,j,2,2)) &
+w12(ii)* (w13 (ii)*dxix(i,j,2,3)+UJ(2,1i,])*dxix(i,j,2,4))

IF(i==i0)ad = 0.
pr = -gV(2,i,j)*w14(1)+gV(1,i,j)*(p(i,j)-p(i,j-1))
Uq(2,i,j) = Uq(2,i,j)-ad+pr-(z(i+1,j)-z(i,j))/Re
rhs(2,i,j) = -dtxUq(2,1,j)
ENDDO; ENDDO
IF (unsteady) THEN
IF (ma==1) FORALL (1=1:2,i=0:if,j=0: j£) UJO(1,i,j)= UJ(1,i,j)
IF (ma==1) FORALL(1=1:2,1=0:if,j=0: j£)rhs0(Ll,i, j)=rhs (1,1, j)

loutlet

'additional term
!pressure term
'residuals of NS eqn

'rhs of linear eqns

'only unsteady

FORALL(1=1:2,i=0:if, j=0:jf)rhs(1,1i,j)=-(UJ(1,1i,j)-UJ0(1,1i,j))+(rhs0(1,i,j)+rhs(1,1i,]))/2.

ENDIF

! Compute UJ™* by implicit SMAC-scheme
tt=dt*theta

DO i=1,if; DO j=0,jO

UJp=(UJ(1,i,j)+ABS(UJ(1,1,3)))/2.; UIm=(UJ(1,i,j)-ABS(UJ(1,i,j)))/2.

VJU=(UJX(2,i,j)+UJX(2,i,j+1))/2.
VIp=(VJU+ABS (VJU))/2.; VIm=(VJU-ABS(VJU))/2.
c(1,i,j)=-tt*(UJp+gU(3,1i,j)/Re)
c(2,i,j)= tt*(UIm-gU(3,1i,j)/Re); IF(i==if)c(2,i,j)=0.
c(3,i,j)=-tt*(VIp+gU(1,i,j)/Re)
c(4,i,j)= ttx(VIm-gU(1,i,j)/Re)
c(0,i,j)=at(2*i,2*j+1)-c(1,i,j)-c(2,1,j)-c(3,1i,j)-c(4,1,])
ENDDO; ENDDO
!Compute dU”* by modifies AF-method
DO j=0,jO; 1=j+1; DO i=1,if
a(l,i,1)=c(1,i,j)
a(1,i,2)=c(0,i,j)
a(l,1,3)=c(2,1i,j); b(l,i)=rhs(1,1,j)
ENDDO; ENDDO
CALL GAUSSZ(a,b,140,jf,if)
FORALL(j=0:j0,i=1:if)rhs(1,i,j)=b(j+1,1)
DO j=0,jO; 1=j+1; DO i=1,if
a(i,1,1)=c(3,i,j)
a(i,1,2)=c(0,i,j)
a(i,1,3)=c(4,i,j); b(i,1)=c(0,i,j)*rhs(1,i,]j)
ENDDO; ENDDO
CALL GAUSSZ(a,b,140,if,jf)
FORALL (j=0:j0,i=1:if)rhs(1,i,j)=b(i,j+1)
! Compute VJ™* by implicit SMAC-scheme
D0 i=0,i0; DO j=1,3j0
UJV=(UJX(1,1i,j)+UJX(1,i+1,j))/2.
UJp=(UJV +ABS (UJV) )/2.; Utm=(UJV -ABS (UJV)

!coefs of linear eqgs

1dU” **

1dU~ *

)/2.

VJp=(UJ(2,1i,j)+ABS(UJ(2,i,j)))/2.; VIm=(UJ(2,1,j)-ABS(UJ(2,i,j)))/2.

c(1,1,j)=-tt*x(UJp+gV(3,1,j)/Re)
c(2,i,j)= tt*x(UIm-gV(3,1,j)/Re)
c(3,1,j)=—tt*x(VIp+gV(1,i,j)/Re)
c(4,i,j)= tt*(VIm-gV(1,i,j)/Re)
c(0,1,j)=aJ(2*i+1,2%j)-c(1,1i,j)-c(2,i,j)-c(3,1,j)-c(4,1i,7)
ENDDO; ENDDO
!Compute dV~"* by modifies AF-method
DO j=1,j0; DO i=0,i0; k=i+l

!'coefs of linear eqgs
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a(j,k,1)=c(1,i,3)
a(j,k,2)=c(0,1,3)
a(j,k,3)=c(2,i,j); b(j,k)=rhs(2,1i,j)
ENDDO; ENDDO
CALL GAUSSZ(a,b,140,j0,if)
FORALL (j=1:§0,i=0:i0)rhs (2,1i,3)=b(j,i+1) 1V~
DO j=1,j0; DO i=0,i0; k=i+l
alk,j,1)=c(3,1,3)
a(k,j,2)=c(0,1i,j)
a(k,j,3)=c(4,i,j); b(k,j)=c(0,i,j)*rhs(2,i,j)
ENDDO; ENDDO
CALL GAUSSZ(a,b,140,if,j0)
FORALL (j=1:0,i=0:i0)rhs (2,1i,3)=b(i+1, ) 1V~ *
FORALL (j=0:j0,i=1:if)UJ(1,1,j)=UJ (1,1, j)+beta*al (2#i,2%j+1)*rhs(1,1,j) !1JU"*
FORALL (j=1:30,i=0:10)UJ(2,1,3)=UJ(2,1,j)+beta*al (2#i+1,2%j) *rhs(2,1,j) !JV %
FORALL (i=0:if,j=0:3£)£(i,j)=Uq(1,1,3)
1o=MAXLOC(f); FORALL(k=1:2)locf(k,1)=1o(k); fmax(1)=MAXVAL(f)
1o=MINLOC(f); FORALL(k=1:2)locf(k,2)=1lo(k); fmax(2)=MINVAL(f)
FORALL (i=0:if,j=0:3£)£(i,j)=Uq(2,1,})
10=MAXLOC(f); FORALL(k=1:2)1locf (k,3)=1lo(k); fmax(3)=MAXVAL(f)
1o=MINLOC(f); FORALL(k=1:2)locf(k,4)=1lo(k); fmax(4)=MINVAL(f)
ENDSUBROUTINE COMPU1

! skkxxkokkkkkx Set up coefficients of difference equations for phi
SUBROUTINE COEF (co)
PARAMETER (if=140, j£=25,if1=280, j£1=50)

DIMENSION co(0:if,0:jf,-1:1,-1:1),aJ(0:if1,0:jf1),gUu(3,0:if,0:jf),gV(3,0:1if,0:jf), &

UJX(2,0:4f,0:j£),w1(0:if,0:jf) ,gw(4,0:1if,0: j£)
COMMON //na,Re,dt,i0,jO,lowRe,steady,unsteady
COMMON /METRIC2/aJ /METRIC3/gU,gV /COMPUZ1/UJX
! x*x*xx Set up coefficients of difference-equations for phi
DO i=0,if; DO j=0,jf
gw(l,i,j)= dt*gU(3,1,j)
gw(2,1,j)=-dt*gU(2,1,j)/4.
gw(3,1,j)=—dt*gV(2,i,j)/4.
gw(4,i,j)= dt*gV(1,1i,]3)
ENDDO; ENDDO
FORALL (1=-1:1,m=-1:1,i=0:if,j=0: jf)co(i,j,1,m)=0.
DO i=0,i0; DO j=0,jO !1st step
co(i,j,1, 1)= gw(2,i+1,j)
co(i,j,0, 1)= guw(2,i+1,j)
co(i,j,1, 0)= gw(l,i+1,3)
co(i,j,0, 0)=-gw(1l,i+1,j)
co(i,j,1,-1)=—gw(2,i+1,j)
co(i,j,0,-1)=—-gw(2,i+1,3)
ENDDO
co(i, 0,1, 1)=co(i,
co(i, 0,0, 1)=co(i,
co(i, 0,1, 0)=co(i, 0)-3.*gw(2,i+1, 0)
co(i, 0,0, 0)=co(i, 0)-3.*gw(2,i+1, 0)
co(i,jo,1, 0)=co(i,jO,1, 0)+3.*gw(2,i+1,j0) 'top
co(i,j0,0, 0)=co(i,jO0,0, 0)+3.*xgw(2,i+1,j0)
co(i,jO,1,-1)=co(i,jO,1,-1)-3.*%gw(2,i+1,30)
co(i,j0,0,-1)=co(i,j0,0,-1)-3.*gw(2,i+1,30)
ENDDO
DO i=1,i0; DO j=0,j0 !2nd step
co(i,j, 0, 1)=co(i,j, 0, 1)-gw(2,i,j)

1)+3.xgw(2,i+1, 0) 'bottom

0,1,
0,0, 1)+3.xgw(2,i+1, 0)
0,1,
0,0,

43
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co(i,j,-1, 1)=co(i,j,-1, 1)-gw(2,i,j)
co(i,j, 0, 0)=co(i,j, 0, 0)-gw(1,i,j)
co(i,j,-1, 0)=co(i,j,-1, 0)+gw(l,i,j)
co(i,j, 0,-1)=co(i,j, 0,-1)+gw(2,1i,j)
co(i,j,-1,-1)=co(i,j,-1,-1)+gw(2,1,j)
ENDDO
co(i, 0, 0, 1)=co(i, 0, 0, 1)-3.xgw(2,i, 0) 'bottom
co(i, 0,-1, 1)=co(i, 0,-1, 1)-3.*gu(2,i, 0)
co(i, 0, 0, 0)=co(i, 0, 0, 0)+3.xgw(2,i, 0)
co(i, 0,-1, 0)=co(i, 0,-1, 0)+3.*gw(2,i, 0)
co(i,jO, 0, 0)=co(i,jO, 0, 0)-3.*gw(2,i,j0) !top
co(i,jo,-1, 0)=co(i,jO,-1, 0)-3.*gw(2,1i,j0)
co(i,jo, 0,-1)=co(i,jO, 0,-1)+3.*gw(2,1i,j0)
co(i,jO,-1,-1)=co(i,j0,-1,-1)+3.*gw(2,1,30)

ENDDO

DO j=0,j0-1; DO i=0,i0 13rd step
co(i,j, 1,1)=co(i,j, 1,1)+gw(3,1i,j+1)
co(i,j, 1,0)=co(i,j, 1,0)+gw(3,i,j+1)
co(i,j, 0,1)=co(i,j, 0,1)+gw(4,i,j+1)
co(i,j, 0,0)=co(i,j, 0,0)-gw(4,i,j+1)
co(i,j,-1,1)=co(i,j,-1,1)-gw(3,i,j+1)
co(i,j,-1,0)=co(i,j,-1,0)-gw(3,i,j+1)
ENDDO
co(0,j,1,1)=co(0,j,1,1)+3.%gw(3,0,j+1) 'inlet
0(0,3§,1,0)=c0(0,j,1,0)+3.%gw(3,0,j+1)
c0(0,j,0,1)=co0(0,j,0,1)-3.*gw(3,0,j+1)
c0(0,3,0,0)=c0(0,3j,0,0)-3.%gw (3,0, j+1)

ENDDO

DO j=1,j0; DO i=0,i0 '4th step
co(i,j, 1, 0)=co(i,j, 1, 0)-gw(3,i,j)
co(i,j, 1,-1)=co(i,j, 1,-1)-guw(3,i,j)
co(i,j, 0, 0)=co(i,j, 0, 0)-gw(4,i,j)
co(i,j, 0,-1)=co(i,j, 0,-1)+gw(4,i,]j)
co(i,j,-1, 0)=co(i,j,-1, 0)+gw(3,1i,j)
co(i,j,-1,-1)=co(i,j,-1,-1)+gw(3,1,j)
ENDDO
co(0,j,1, 0)=co(0,j,1, 0)-3.xgw(3,0,j) linlet
co(0,j,1,-1)=co0(0,j,1,-1)-3.*gw (3,0, j)
c0(0,j,0, 0)=co(0,j,0, 0)+3.xgw(3,0,j)
c0(0,j,0,-1)=co0(0,j,0,-1)+3.*gw (3,0, j)

ENDDO

ENDSUBROUTINE COEF

! xkkxkkkkkk Compute static pressure p

SUBROUTINE COMPP(UJ,p,phi,co,resP,locf,fmax)

PARAMETER (if=140, jf=25,ife=70, jfe=13) life=(if+1)/2,jfe=(jf+1)/2

DIMENSION UJ(2,0:if,0:jf),p(0:if,0:jf),phi(0:if,0:jf),co(0:if,0:jf,-1:1,-1:1), &
rhs(0:if,0:jf) ,a(ife,0:10,3) ,b(ife,0:10),r(ife) ,10(2),locf(2,8) ,fmax(8)

COMMON //na,Re,dt,i0,jO,lowRe,steady,unsteady

REAL(8) a,b

LOGICAL lowRe,steady,unsteady

! Determine rhs of pressure difference eqn

FORALL (i=0:if, j=0:jf)phi(i,j)=0.

FORALL (i=0:i0, j=0:j0)rhs(i,j)=(UJ(1,i+1,j)-0J(1,1i,j)+UI(2,1,j+1)-UJ(2,i,])) !'UJ=JU"*

!'IF (steady.AND. lowRe) THEN

IF (steady) THEN

! #xxx*% Solve pressure difference eqn by SOR method
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alp=1.5; bet=0.5 'alp:over-relaxation, bet:damping
nf=4
n=0; 100 n=n+1; resP=0.
ib=0; ie=i0O; id=1; jb=0; je=j0; jd=1 'odd sweep, throughout region
IF(MOD(n,2)==0) THEN

ib=i0-1; ie=1; id=-1; jb=jO0-1; je=1; jd=-1 !even sweep, inside region
ENDIF

DO i=ib,ie,id; DO j=jb,je,jd
res=-rhs(i,j)
DO ip=-1,1; ic=0; IF(i+ip==-1)ic=3
DO jp=-1,1; jc=0; IF(j+jp==-1)jc=3; IF(j+jp==if)jc=-3

res=res+co(i,j,ip, jp) *phi(i+ip+ic, j+jp+jc) !residuals
ENDDO; ENDDO
phi(i,j)=phi(i,j)-alp*res/co(i,j,0,0) !over-relaxation of phi
resP=AMAX1(resP,ABS (res)) 'max residual
ENDDO; ENDDO
IF(resP>1.E-5 .AND. n<nf) GOTO 100 !dicide convergence
ELSE

20 CONTINUE
! x**x*x Solve pressure difference eqn by Tschebyscheff SLOR method
alp=1.25; bet=0.75
ifo=if-ife; jfo=jf-jfe; nf=4
n=0; 110 n=n+l1; resP=0.
! #*xx*% Compute even i-columns
DO j=0,j0
DO ii=1,ife; i=2%ii-2
a(ii,j,1)=co(i,j,0,-1); a(ii,j,2)=co(i,j,0, O)*alp; a(ii,j,3)=co(i,j,0, 1)
b(ii,j) =rhs(i,j)-(1.-alp)*co(i,j,0,0)*phi(i,j)
r(ii) =b(ii,j)
ENDDO
DO jp=-1,1; jc=0; IF(j+jp==-1)jc=3; IF(j+jp==jf)jc=-3
DO ii=1,ife; i=2%ii-2
iml=i-1; IF(iml==-1)iml=2
cop=co(i,j,-1,jp)*phi(imil, j+jp+jc)+co(i,j,1,jp)*phi(i+1, j+jp+jc)
b(ii,j)=b(ii,j)-cop

r(ii)=r(ii)-cop-a(ii,j,jp+2)*phi(i,j+jp+jc) !residuals
ENDDO; ENDDO
DO ii=1,ife
resP=AMAX1(resP,ABS(r(ii))) 'max residual
ENDDO
ENDDO
CALL GAUSSP(a,b,ife,i0,jO,ife)
FORALL(j=0:jO0,ii=1:ife)phi(2*ii-2,j)=b(ii,j) leven column phi
! x**x*x Compute odd i-columns
DO j=0,3j0

DO ii=1,ifo; i=2%ii-1
a(ii,j,1)=co(i,j,0,-1); a(ii,j,2)=co(i,j,0, O)*alp; a(ii,j,3)=co(i,j,0, 1)
b(ii,j) =rhs(i,j)-(1.-alp)*co(i,j,0,0)*phi(i,j)
r(ii) =b(ii, j)

ENDDO

DO jp=-1,1; jc=0; IF(j+jp==-1)jc=3; IF(j+jp==jf)jc=-3

DO ii=1,ifo; i=2%ii-1
cop=co(i,j,-1,jp)*phi(i-1,j+jp+jc)+co(i,j,1,jp)*phi(i+1l,j+jp+jc)
b(ii,j)=b(ii,j)-cop
r(ii)=r(ii)-cop-a(ii,j,jp+2)*phi(i,j+jp+jc) 'residuals

ENDDO; ENDDO

DO ii=1,ifo
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resP=AMAX1(resP,ABS(r(ii))) 'max residual
ENDDO
ENDDO
CALL GAUSSP(a,b,ife,i0,j0,ifo)
FORALL (ii=1:ifo,j=0:3j0)phi (2*ii-1,j)=b(ii,j) todd column phi

! Compute even j-rows
n=n+1; resP=0.
DO i=0,i0
DO jj=1,jfe; j=2%jj-2
a(jj,i,1)=co(i,j,-1,0); a(jj,i,2)=co(i,j, 0,0)*alp; a(jj,i,3)=co(i,j, 1,0)
b(jj,i) =rhs(i,j)-(1.-alp)*co(i,j,0,0)*phi(i,j)
r(jj) =b(jj,1)
ENDDO
DO ip=-1,1; ic=0; IF(i+ip==-1)ic=3
DO jj=1,jfe; j=2%jj-2
jmi=j-1; IF(jml==-1)jm1=2
jpl=j+1; IF(jpl==jf)jp1=j0-2
cop=co(i,j,ip,-1)*phi(i+ip+ic,jml)+co(i,j,ip,1)*phi(i+ip+ic, jpl)
b(jj,i)=b(jj,i)-cop
r(jj)=r(jj)-cop-a(jj,i,ip+2)*phi(i+ip+ic,j) 'residuals
ENDDO; ENDDO
DO jj=1,jfe
resP=AMAX1(resP,ABS(r(jj))) 'max residual
ENDDO
ENDDO
CALL GAUSSP(a,b,ife,i0,i0,jfe)
FORALL(i=0:i0,jj=1:jfe)phi(i,2*jj-2)=b(jj,1) leven row phi
! x**x*x Compute odd j-rows
DO i=0,i0
DO jj=1,jfo; j=2%jj-1
a(jj,i,1)=co(i,j,-1,0); a(jj,i,2)=co(i,j, 0,0)*alp; a(jj,i,3)=co(i,j, 1,0)
b(jj,i) =rhs(i,j)-(1.-alp)*co(i,j,0,0)*phi(i,j)
r(jj) =b(jj,1)
ENDDO
DO ip=-1,1; ic=0; IF(i+ip==-1)ic=3
DO jj=1,jfo; j=2%jj-1
jmi=j-1; IF(jml==-1)jm1=2
jpl=j+1; IF(jpl==jf)jp1=j0-2
cop=co(i,j,ip,-1)*phi(i+ip+ic,jml)+co(i,j,ip,1)*phi(i+ip+ic, jpl)
b(jj,i)=b(jj,i)-cop

r(jj)=r(jj)-cop-a(jj,i,ip+2)*phi(i+ip+ic,j) 'residuals
ENDDO; ENDDO
DO jj=1,jfo
resP=AMAX1(resP,ABS(r(jj))) 'max residual
ENDDO
ENDDO
CALL GAUSSP(a,b,ife,i0,i0,jfo)
FORALL(jj=1:jfe,i=0:i0)phi(i,2*jj-1)=b(jj,1) 'odd row phi
IF(resP>1.E-5 .AND. n<nf) GOTO 110
ENDIF
FORALL(i=0:i0,j=0:3j0)p(i,j)=p(i,j)+bet*phi(i,j) !p=pt+bet*phi

1o=MAXLOC(phi); FORALL(k=1:2)locf(k,5)=1lo(k); fmax(5)=MAXVAL (phi)
1o=MINLOC(phi); FORALL(k=1:2)locf(k,6)=1lo(k); fmax(6)=MINVAL (phi)
ENDSUBROUTINE COMPP

! xkkxkkkkkk Compute volume flux JU and JV
SUBROUTINE COMPU2(UJ,phi)
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PARAMETER (if=140, j£=25)
DIMENSION UJ(2,0:if,0:jf),phi(0:if,0:jf),gU(3,0:if,0:jf),gV(3,0:if,0:j£), &
pV(0:if) ,dpV(0:if) ,pU(0:jf),dpU(0:jf)
COMMON //mna,Re,dt,i0,jO,lowRe,steady,unsteady
COMMON /METRIC3/gU,gV
FORALL (j=0: jO)phi(if, j)=-phi(i0,j)
DO i=1,if ! JU=JU"*-dt (g22phi_xi-gl2phi_eta)
FORALL (j=0:j0)pU(j)=(phi(i-1,j)+phi(i,j))/2.
CALL DIFP(pU,dpU,jf,1.)
FORALL (j=0: jO) &
UJ(1,i,3)=UJ(1,1,])-dt*(gU(3,1,3)*(phi (i, )-phi(i-1,7))-gU(2,i,3)*dpU(j))
ENDDO
D0 j=1,j0 1JV=JV~*-dt (-g12phi_xi+gliphi_eta)
FORALL (i=0:if)pV (i)=(phi (i, j~1)+phi (i, j))/2.
CALL DIFP(pV,dpV,if,1.)
i=i0; dpV(i)=(phi(i+1,j)-phi(i-1,3))/2. loutlet
FORALL (i=0:i0) &
UJ(2,1,3)=U0J(2,1,j)-dt*(-gV(2,1,])*dpV(i)+gV(1,i,j)*(phi(i,j)-phi(i,j-1)))
ENDDO
ENDSUBROUTINE COMPU2

! skxxkokkkkx Compute velocities u and v and vorticity zeta

SUBROUTINE COMPUZ(uJ,u,z,locf,fmax,CFLmax)

PARAMETER (if=140, j£=25,if1=280, j£1=50)

DIMENSION UJ(2,0:if,0:jf),u(2,0:if,0:jf),z(0:if,0:jf),div(0:if,0:jf),UJX(2,0:if,0:jf), &
aJ(0:1f1,0:jf1),gU(3,0:1if,0: jf),gV(3,0:if,0:jf) ,xix(4,0:if1,0:jf1),w1(0:if), &
w2(0:jf) ,w11(0:if1) ,w12(0:jf1),10(2),locf(2,8) ,fmax(8)

COMMON //na,Re,dt,i0,jO,lowRe,steady,unsteady

COMMON /COMPUZ1/UJX /METRIC2/aJ /METRIC3/gU,gV /METRIC4/xix

! #xxx*% Compute velocities at X 'u= xix4*JUX-xix2*JVX

DO i=0,if 'y=-xix3*JUX+xix1*JVX

FORALL (j=0:jf)w2(j)=UJ(1,1,3)
CALL INTUX(w2,w12,jf)
FORALL (j=0:j£)UJX(1,1i,j)=w12(2%j)

ENDDO

DO j=0,jf

FORALL (i=0:if)w1(i)=UJ(2,1,j)
CALL INTVX(wl,wll,if)
FORALL (i=0:if)UJX(2,1i,j)=w11(2%1i)

ENDDO

FORALL(i=1:if,j=1:j0)u(1l,i,j)= xix(4,2*i,2*j)*UJX(1,1i,j)-xix(2,2%i,2%j)*UJX(2,1,])

FORALL (i=1:if,j=1:j0)u(2,1i,j)=-xix(3,2%1,2*%j)*UJX (1,1, j)+xix(1,2*i,2%j)*UJX(2,1,j)

! x**x*x Compute vorticity zeta at X

FORALL (i=0:if, j=0:jf)z(i,j)=0.

DO j=1,jO
FORALL (i=0:if)w1(i)=UJX(1,1i,j)
CALL INTP(wl,wll,if) 'w11=JU_V
FORALL (1=0:10) w1 (i)=gV (2,1, j)*wll (2*i+1)+gV(3,1,j)*UJ(2,1,])
FORALL (i=1:10)z(i,j)=w1(i)-w1(i-1) 1x=(g21JU+g22JV) _,xi
i=0 ; z(i,j)=-wl(i+2)+3.*wl(i+1)-2.*w1(i) 'inlet bound
i=if; z(i,j)= wi(i-3)-3.*wl(i-2)+2.*wl(i-1) 'outlet bound
ENDDO
DO i=0,if
FORALL (j=0: jf)w2(j)=UJX(2,1,3)
CALL INTVP(w2,w12,jf) 'w12=JV_U

FORALL (j=0:jO)w2(j)=gU (1,1, ) *UJ(1,1,3)+gU(2,1i,]) *w12(2%j+1)
FORALL (j=1:j0)z (i, j)=z(i,j)- w2(j)-w2(j-1)) x=x-(g11JU+g12JV) _,eta
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j=0 ; z(i,j)=-(-w2(j+1)/3.+3.*w2(j)); z(40,0)=0. !bottom wall
j=jf; z(i,j)=-( w2(j-2)/3.-3.*%w2(j-1)) 'top wall
FORALL(j=0:jf)z(i,j)=z(i,j)/al(2*i,2xj) lzeta=*/J

ENDDO

! x**xx Divergence and max CFL number

CFLmax=0.

FORALL (i=0:10,j=0:j0)div(i,j)=(UJ(1,i+1,3j)-UJ(1,i,j) &
+UJ(2,1,j+1)-UJ(2,1i,j))/aJ(2*i+1,2%j+1)
1lo=MAXLOC(div); FORALL(k=1:2)locf(k,7)=lo(k); fmax(7)=MAXVAL(div)
1o=MINLOC(div); FORALL(k=1:2)locf(k,8)=lo(k); fmax(8)=MINVAL(div)
DO i=0,i0; DO j=0,jO
CFLmax=MAX (CFLmax ,ABS (UJ(1,1i,j) /aJ(2*i,2%j+1)) ,ABS(UJ(2,i,j)/aJ(2%i+1,2xj)))
ENDDO; ENDDO
CFLmax=CFLmax*dt 'max | CFL |
ENDSUBROUTINE COMPUZ

! xkkxkkkkkk Compute location of reattachment point

SUBROUTINE REATTACH(x,UJ,UJX,if,jf,xrap,k)

DIMENSION x(2,0:if,0:jf),UJ(2,0:if,0:jf),UJX(2,0:if,0:jf),al(-3:8)
k=100; irap=45; 10 irap=irap+1; IF(irap>105)RETURN

IF(UJ(1,irap,0)<0.) GOTO 10 !irap: grid point near rap

ii=-4; 12 ii=ii+l; i=irap+ii

du=UJ(1,i,0); d2u=UJX(1,i,1)-2.*du 'du=DeltaJU, d2u=Delta”~2JU
d3u=UJ(1,i,1)-3.*xUJX(1,i,1)+3.*du 'd3u=Delta"~3JU

a=2.; 13 fa = dut(a-1.)/2.*%(d2u+(a-2.)/3.*d3u) !fa=f (alpha) by cubic interpolation
IF (ABS(fa)<.00001) GOTO 14

dfa = d2u/2.+(2.*a-3.)/6.*d3u !dfa=f’ (alpha)

a = a-fa/dfa; GOTO 13 'by Newton method

14 al(ii)=a; IF(a>0.14) GOTO 12  'al(ii): alpha of u=0
IF(al(ii)<0.01)ii=iji-1 !irap+ii: adjacent grid point to rap

! using quadratic interpolation formula f(beta)=a0+da*beta+td2a*betaxbeta/2.
! get beta from f(beta)=0 by Newton method

a2=al(ii-2); al=al(ii-1); aO=al(ii)

da=(3.*a0-4.*al+a2)/2.; d2a=a0-2.*al+a2

k=0; b=0.; 22 k=k+1l; fb = aO+da*b+d2a*bxb/2. 1 fb=f (beta)

IF (k>10) GOTO 20

IF (ABS(£fb)<0.01) GOTO 21

dfb = da+d2a*b 1dfb=£f’ (beta)

b = b-fb/dfb; GOTO 22 !by Newton method

21 xii=x(1,irap+ii,0); xi=x(1,irap+ii+1,0)

20 xrap = xii+b*(xi-xii) 'x of reattachment point

ENDSUBROUTINE REATTACH

! kxckkkkkxk*k minmod limiter
FUNCTION AMINMOD(a,b)

s=SIGN(1.,a); AMINMOD=s*MAX(0.,MIN(ABS(a),s*b))
ENDFUNCTION

! xsxxkkxkkx Compute x- or y-differences at point P (pressure)
SUBROUTINE DIFP(u,du,n,h)

DIMENSION u(O:n),du(O:n)

FORALL (i=1:n-2)du(i)=(u(i+1)-u(i-1))/(2.*h)
du(0)=(-3.*u(0)+4.*u(1)-u(2))/(2.*h)
du(n-1)=(u(n-3)-4.*u(n-2)+3.*u(n-1))/(2.*h)

ENDSUBROUTINE DIFP

! kkkkxkxkkx Compute x- or y-differences at point X (metrics)
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SUBROUTINE DIFX(u,du,n,h)

DIMENSION u(0:n),du(O:n)

FORALL (i=1:n-1)du(i)=(u(i+1)-u(i-1))/(2.*h)
du(0)=(-3.*u(0)+4.*u(1)-u(2))/(2.*h)
du(n)=(u(n-2)-4.%u(n-1)+3.*u(n))/(2.*h)
ENDSUBROUTINE DIFX

! xkkxkkkkk*k Solve in parallel, systems of linear eqns with modified tri-diagonal matrix

! by Gaussian eliminaton

SUBROUTINE GAUSSP(a,b,ife,iO,n,if)

DIMENSION a(ife,0:i0,3),b(ife,0:i0)

REAL (8) a,b

FORALL(i=1:if)a(i,0,1)=a(i,0,1)/a(i,0,2)

FORALL(i=1:if)a(i,1,3)=a(i,1,3)-a(i,1,1)*a(i,0,1)

DO k=0,n-1; DO i=1,if
b(i,k)=b(i,k)/a(i,k,2); a(i,k,3)=a(i,k,3)/a(i,k,2)
b(i,k+1)=b(i,k+1)-a(i,k+1,1)*b(i,k)
a(i,k+1,2)=a(i,k+1,2)-a(i,k+1,1)*a(i,k,3)

ENDDO; ENDDO

FORALL(i=1:if)a(i,n,1)= -a(i,n,3)*a(i,n-2,3)

FORALL(i=1:if)a(i,n,2)=a(i,n,2)-a(i,n,1)*a(i,n-1,3)

FORALL(i=1:if)b(i,n)=(b(i,n)-a(i,n,3)*b(i,n-2)-a(i,n,1)*b(i,n-1))/a(i,n,2)

DO k=n-1,0,-1; DO i=1,if
b(i,k)=b(i,k)-a(i,k,3)*b(i,k+1)

ENDDO; ENDDO

DO i=1,if; b(i,0)=b(i,0)-a(i,0,1)*b(i,2); ENDDO

ENDSUBROUTINE GAUSSP

! xkkxkkkkk* Solve in paralell, systems of linear eqns with tri-diagonal matrix
! by Gaussian elimination
SUBROUTINE GAUSSZ(a,b,ml,m,n)
DIMENSION a(ml,m1,3),b(ml,ml1)
DO k=1,n-1; DO 1=1,m
b(1,k) =b(1,k) /a(l,k,2)
a(l,k,3)=a(l,k,3)/a(l,k,2)
b(1l,k+1) =b(1l,k+1) -a(l,k+1,1)*b(1,k)
a(l,k+1,2)=a(l,k+1,2)-a(l,k+1,1)*a(1,k,3)
ENDDO; ENDDO
FORALL (1=1:m)b(1,n)=b(1,n)/a(l,n,2)
DO k=n-1,1,-1
FORALL (1=1:m)b(1,k)=b(1,k)-a(l,k,3)*b(1,k+1)
ENDDO
ENDSUBROUTINE GAUSSZ

! kkkkxkxkxx Interpolate ul from u (U_P from U)

SUBROUTINE INTP(u,ul,n)

DIMENSION u(O:n),ul(0:2%n)

FORALL (i=0:n)ul(2*i)=u(i)
FORALL(i=1:n-2)ul(2*i+1)=(-u(i-1)+9.*(u(i)+u(i+1))-u(i+2))/16.
i=0 ; ul(2#i+1)=(3.*u(i)+6.*u(i+1)-u(i+2))/8.

i=n-1; ul(2*i+1)=(3.*%u(i+1)+6.*u(i)-u(i-1))/8.

ENDSUBROUTINE INTP

! skxsokkkkxx Interpolate U_X from U
SUBROUTINE INTUX (u,ul,jf)

DIMENSION u(0:jf),ul(0:2%jf)

FORALL (j=0: jf-1)ul (2*j+1)=u(j)

49
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FORALL (j=2: jf-2)ul (2*j)=(-u(j-2)+9.* (u(j-1)+u(j))-u(j+1))/16.
j=0  ; ul(2xj)=0.

j=1  ; ul(2*j)=(3.*u(j-1)+2.*u(j)-u(j+1)/5.)/4.

j=jf-1; ul(2%j)=(3.*u(j)+2.*u(j-1)-u(j-2)/5.)/4.

j=jf ; ul(2xj)=0.

ENDSUBROUTINE INTUX

! kxxxkkkkxx Interpolate V_P from V

SUBROUTINE INTVP(u,ul,n)

DIMENSION u(O:n),ul(0:2*n)

FORALL (j=0:n)u1(2*j)=u(j)

FORALL (j=1:n-2)ul(2*j+1)=(-u(j-1)+9.* (u(j)+u(j+1))-u(j+2))/16.
j=0 ; ul(2xj+1)=(12.*%u(j+1)-u(j+2))/32.

j=n-1; ul(2xj+1)=(12.*u(j )-u(j-1))/32.

ENDSUBROUTINE INTVP

! kxxxkkkkxx Interpolate V_X from V

SUBROUTINE INTVX(u,ul,if)

DIMENSION u(0:if),ul(0:2#*if)

FORALL (i=0:if-1)ul(2*i+1)=u(i)

FORALL (i=2:if-2)ul(2#i)=(-u(i-2)+9.* (u(i-1)+u(i))-u(i+1))/16.
i=0 ; ul(2%i)=0.

i=1 ; ul(2*i)=(3.%u(i-1)+2.*u(i)-u(i+1)/5.)/4.

i=if-1; ul(2*i)=(3.*u(i)+6.*u(i-1)-u(i-2))/8.

i=if ; ul(2*i)=(3.*u(i-1)-u(i-2))/2.

ENDSUBROUTINE INTVX

Pfkkxkkkkkx  Print out computational results in flow field
SUBROUTINE WRTF(f,z1,z2,mz,na)
PARAMETER (if=140, j£=25)
DIMENSION f£(0:if,0:jf)
CHARACTER*4 z1,z2,form(7),area(7)
DATA form/ll(lH ll’l|2x II|’I|2’2XII’II 36("’" I|’I|F8'4ll’ll)) ll/
DATA area/" -3P"," -2P"," -1P"," "," 1p"," 2p"," 3P/
form(5)=area(mz+4)
OPEN (20,FILE="0UTPUT.dat’)
WRITE(20,60)z1,z2,na
iif=(if-1)/35+1
DO ii=1,iif; is=35%(ii-1); ie=MIN(35%ii,if)
DO j=jf,0,-1; WRITE(20,form)j,(f(i,j),i=is,ie); ENDDO
WRITE(20,61) (i,i=is,ie)
ENDDO
60 FORMAT(/1H 20X "* * x ", 284, " % % x", 10X "na =", I5, /)
61 FORMAT(1H 4X 36I8//)
ENDSUBROUTINE WRTF

! xkkxkkkxk* Drawing of Grid and Computational Results

SUBROUTINE StepDF_CG(x,u,p,z,if,jf)

USE DFLIB

DIMENSION x(2,0:if,0:jf),u(2,0:if,0:jf),p(0:if,0:jf),z(0:if,0:jf),pp(7:105,0:jf)

LOGICAL statusmode

TYPE (windowconfig) myscreen

TYPE (wxycoord) wxy

INTEGER(2) status,xwidth,yheight,fontnum,numfonts

INTEGER (4) oldcolor,colors(13)

REAL (4) p0(0:if,0:jf),p1(0:if),p11(0:if),psi(0:if,0:jf),psik(13), &
x1(0:70,0:25) ,y1(0:70,0:25) ,£1(0:70,0:25), &



moooooogoooooooooo O

x2(0:30,0:25),y2(0:30,0:25) ,£2(0:30,0:25) ,ak(13) ,Dps (13)

REAL (8) Xs,ys,xt,yt
CHARACTER*5 z1(7)
myscreen.numxpixels = -1
myscreen.numypixels = -1
myscreen.numtextcols = -1
myscreen.numtextrows = -1
myscreen.numcolors = -1
myscreen.fontsize = -1
myscreen.title =" nc

statusmode = SETWINDOWCONFIG(myscreen)

IF(.NOT. statusmode) statusmode = SETWINDOWCONFIG(myscreen)
statusmode =GETWINDOWCONFIG(myscreen)

xwidth = myscreen.numxpixels

yheight = myscreen.numypixels

0ldcolor=SETBKCOLORRGB (#FFFFFF)

CALL CLEARSCREEN ($GCLEARSCREEN)

! Set first window coordinates
CALL SETVIEWPORT (yheight/5.,INT2(0), yheight,yheight/5.)
status = SETWINDOW(.TRUE., -5.,-2., 11.,2.)
! Draw partial computational grid
oldcolor=SETCOLORRGB (#606060) lgray
DO i=0,if; xs=x(1,1,0); ys=x(2,1,0); CALL MOVETO_W(xs,ys,wxy)
DO j=1,jf; xt=x(1,i,j); yt=x(2,i,j); status = LINETO_W(xt,yt); ENDDO
ENDDO
DO j=0,jf; xs=x(1,0,j); ys=x(2,0,j); CALL MOVETO_W(xs,ys,wxy)
DO i=1,if; xt=x(1,i,j); yt=x(2,1i,j); status = LINETO_W(xt,yt); ENDDO
ENDDO
0ldcolor=SETCOLORRGB (#000000)
CALL CHARAC(1.0,-1.8,’COMPUTATIONAL GRID’)

! Set second window coordinates
OPEN(20,FILE=’0UTPUT.dat’)
CALL SETVIEWPORT (yheight/5.,yheight/5., yheight,3.*yheight/5.)
status = SETWINDOW(.TRUE., -6.,-8., 18.,4.)
! Set colors
colors(1) =#E070AQ; colors(2) =#FF7070 'blue
colors(3) =#DOA070; colors(4) =#A0D070; colors(5) =#70FF70 !green
colors(6) =#60FFAO; colors(7) =#50FFDO; colors(8) =#40FFFF !yellow
colors(9) =#50EQFF; colors(10)=#60COFF; colors(11)=#7090FF
colors(12)=#7070FF 'red
colors(13)=#A070EQ
status = REMAPALLPALETTERGB (colors)
! Draw pressure distribution
DO j=0,jf-1

FORALL (i=0:if-1)p1(i)=p(i,j)

CALL INTPX(pl,pil,if,if)

FORALL (i=0:if)p0(i, j)=p11(i)
ENDDO
DO i=0,if

FORALL (j=0:j£-1)p1(j)=p0(i,j)

CALL INTPX(pl,pll,if,jf)

FORALL (j=0:j£)p0 (i, j)=p11(j)
ENDDO
DATA Dps/.005, .00667, .0075, .010, .0125, .015, .01667, .02, .025, &

!interpolate p_X

o1

.03, .03333, .04, .05/ !standard pressure increments
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FORALL(i=7:105, j=0:jf)pp(i, j)=p0(i,j)

pmax=MAXVAL (pp) ; pmin=MINVAL (pp)

Dp=(pmax-pmin)/13.

IF(Dp<.004 .OR. Dp>.06) RETURN

k=0; 10 k=k+1; IF(Dps(k)<Dp .AND. k<13) GOTO 10
kkk=k; Dpk=Dps(k); imin=INT(pmin/Dpk); IF(pmin>0.)imin=imin+1
ak (12)=Dpk* (FLOAT (imin)+11.5)

11 IF(ak(12)>=pmax)THEN; imin=imin-1; ak(12)=ak(12)-Dpk; GOTO 11
ENDIF

FORALL (k=1:12) ak (k) =Dpk* (FLOAT (imin+k) -.5)

FORALL (i=0:70,j=0:jf)

x1(i,j)=x(1,i+6,j); y1(i,j)=x(2,i+6,j); £1(i,j)=p0(i+6,j); ENDFORALL

CALL DISTRIB(x1,yl1,f1,70,jf,ak,colors,1,13)

WRITE(20,’ (56X A6,F8.4,5X A6,F8.4)’)’pmax =’,pmax,’pmin =’,pmin
! Draw velocity vectors

0ldcolor=SETCOLORRGB (#000000)

amag=.6

DO i=7,75,4; DO j=1,jf-1

'no suitable Dps
!determine Dps
!No of min pressure

!determine imin

'black

CALL LINE(x(1,1i,j),x(2,1,j),x(1,1i,j)+amag*u(1,1,j),x(2,1,])+amag*u(2,1,j))

ENDDO; ENDDO

status = SETWINDOW(.TRUE., 18.,-3., 42.,9.)
! Draw pressure distribution

FORALL (i=0:30, j=0:j£)

x2(i,§)=x(1,i+75,3); y2(i,j)=x(2,i+75,j); £2(i,j)=p0(i+75,j); ENDFORALL

CALL DISTRIB(x2,y2,f2,30,jf,ak,colors,1,13)
! Draw velocity vectors
0ldcolor=SETCOLORRGB (#000000)

D0 i=75,99,4; DO j=1,jf-1

CALL LINE(x(1,i,j),x(2,i,j),x(1,1i,j)+amag*u(l,1i,j),x(2,1,j)+amag*u(2,1i,j))

ENDDO; ENDDO

! Color-pressure relation

CALL COLORVAL(39.0,-0.95,39.3,2.95,colors,13,kkk,Dpk,imin)
0ldcolor=SETCOLORRGB (#404040)

CALL CHARAC(23.0,-2.3,’PRESSURE DISTRIBUTION AND VELOCITY VECTORS’)

! Set third window coordinates

CALL SETVIEWPORT (yheight/5.,3.*yheight/5., yheight,yheight)
status = SETWINDOW(.TRUE., -6.,-8., 18.,4.)

! Draw vorticity distribution

FORALL (i=0:70,j=0:jf)

x1(i,j)=x(1,i+6,3); y1(i,j)=x(2,i+6,j); f1(i,j)==z(i+6,j); ENDFORALL

FORALL (k=1:13)ak (k) =-2.6+.4*FLOAT (k) !paint colors(k) between ak(k-1) and ak(k)

CALL DISTRIB(x1,y1,f1,70,jf,ak,colors,1,13)
! Draw streamlines
DO i=0,if

psi(i,0)=0.

DO j=1,jf

psi(i,j)=psi(i,j-1)+(u(l,i,j-1)+u(l,i,j))/2.%(x(2,1,j)-x(2,i,j-1)) &

-(u(2,i,j-1)+u(2,1,3))/2.%(x(1,1,j)-x(1,1,j-1))

ENDDO
dpsi=3.-psi(i,jf)
FORALL (j=1:jf)psi(i,j)=psi(i,j)+dpsi*FLOAT(j)/jf
ENDDO
FORALL (i=0:70,j=0:j£)£1(i,j)=psi(i+6,j)
oldcolor=SETCOLORRGB (#606060) lgray
FORALL (k=1:13) psik (k)=.25*FLOAT (k-1)
CALL CONTOUR(x1,yl,f1,70,jf,psik,13)
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oldcolor=SETCOLORRGB (#808080) 'light gray
FORALL (k=1:13) psik(k)=-.01*FLOAT (k)
CALL CONTOUR(x1,y1,f1,70,jf,psik,13)
0ldcolor=SETCOLORRGB (#606060) lgray
CALL LINE(-6.0,0.0,0.0,0.0) ; CALL LINE(0.0,0.0,0.0,-1.0)
CALL LINE(0.0,-1.0,18.0,-1.0); CALL LINE(-6.0,3.0,18.0,3.0)
status = SETWINDOW(.TRUE., 18.,-3.1, 42.,9)
! Draw vorticity distribution
FORALL (i=0:30, j=0: j£)
x2(i,j)=x(1,i+75,3); y2(i,j)=x(2,i+75,j); £2(i,j)=z(i+75,j); ENDFORALL
CALL DISTRIB(x2,y2,f2,30,jf,ak,colors,1,13)
! Draw streamlines
FORALL (1=0:30, j=0: j£) £2(i, j) =psi (i+75, j)
oldcolor=SETCOLORRGB (#606060) lgray
FORALL (k=1:13) psik (k) =.25+FLOAT (k-1)
CALL CONTOUR(x2,y2,£2,30,3f,psik,13)
oldcolor=SETCOLORRGB (#808080) 'light gray
FORALL (k=1:13) psik (k) =-.01*FLOAT (k)
CALL CONTOUR(x2,y2,£2,30,3f,psik,13)
oldcolor=SETCOLORRGB (#606060) lgray
CALL LINE(18.0,-1.0,42.0,-1.0); CALL LINE(18.0,3.0,42.0,3.0)
! Color-vorticity relatiomn
xs=39.0; xt=39.3
DO k=1,13
oldcolor=SETCOLORRGB (colors (k))
ys=-0.95+0.3*FLOAT (k) ; yt=-0.95+0.3*FLOAT (k-1)
status=RECTANGLE_W ($GFILLINTERIOR,xs,ys,xt,yt)
ENDDO
oldcolor=SETCOLORRGB (#000000)
ys=2.95; yt=-.95; status = RECTANGLE_W ($GBORDER,xs,ys,xt,yt)
numfonts=INITIALIZEFONTS ()
fontnum =SETFONT (’t’’Arial’’h14w6’)
DATA z1/°’-2.4 ’,’-1.6 *,’-0.8 >,> 0.0 °>,> 0.8 *,> 1.6 ’,” 2.4’/
DO k=1,7; xt=39.4; yt=-0.55+0.6*%FLOAT (k-1)
CALL MOVETO_W(xt,yt,wxy); CALL OUTGTEXT(z1(k))
ENDDO
CALL CHARAC(24.0,-2.3,’VORTICITY DISTRIBUTION AND STREAMLINES’)
ENDSUBROUTINE StepDF_CG

! sxk¥xk¥k*x*k* character
SUBROUTINE CHARAC(x,y,A)

USE DFLIB

TYPE (windowconfig) myscreen

TYPE (wxycoord) wxy

INTEGER (2) numfonts,fontnum
REAL (8) xt,yt
CHARACTER*100 A

numfonts=INITIALIZEFONTS ()

fontnum=SETFONT ("t’Arial’’h16w6’")

xt=x; yt=y+0.33; CALL MOVETO_W(xt,yt,wxy); CALL OUTGTEXT(A)
ENDSUBROUTINE CHARAC

! kkxkkxkkx*k Values of colors

SUBROUTINE COLORVAL(x1,yl1,x2,y2,colors,kf,kkk,Dpk,imin)
USE DFLIB

TYPE (wxycoord) wxy

INTEGER*2 status,numfonts,fontnum,intv(13)
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INTEGER*4 oldcolor,colors (kf)
REAL*8 Xs,ys,xt,yt
CHARACTER*5 z1(-20:50)
dy=(y2-y1) /FLOAT (kf)
xs=x1; xt=x2
DO k=1,kf
0ldcolor=SETCOLORRGB (colors(k))
ys=y1l+dy*FLOAT (k) ; yt=y1+dy*FLOAT (k-1)
status = RECTANGLE_W($GFILLINTERIOR,xs,ys,xt,yt)
ENDDO
0ldcolor=SETCOLORRGB (#000000)
ys=y2; yt=yl; status = RECTANGLE_W($GBORDER,xs,ys,xt,yt)
numfonts=INITIALIZEFONTS ()
fontnum =SETFONT(’t’’Arial’’h14w6’)
DATA z1/°-0.20’,’-0.19°,°-0.18’,’-0.17’,’-0.16’,°-0.15",°-0.14°,°-0.13’,°-0.12’,°-0.11’, &
’-0.10’,’-0.09’,’-0.08’,’-0.07’,>-0.06’,-0.05’,°-0.04’,°-0.03’,7-0.02’,’-0.01’, &

>’ 0.00’,” 0.017,” 0.02”,” 0.03’,” 0.04’,” 0.05’,” 0.06’,” 0.07’,” 0.08’,’ 0.09’, &

>’ 0.10’,” 0.11,” 0.12”,” 0.13’,’ 0.14’,” 0.15’,” 0.16’,’ 0.17’,” 0.18’,” 0.19’, &

>’ 0.20°,” 0.217,” 0.227,” 0.23’,” 0.24’,” 0.25’,” 0.26°,’ 0.27’,” 0.28°,” 0.29°, &

>’ 0.30’,” 0.317,” 0.32”,” 0.33’,” 0.34’,” 0.35’,” 0.36’,” 0.37’,” 0.38’,’ 0.39’, &

>’ 0.40’,” 0.41,’ 0.42”,’ 0.43’,’ 0.44’,” 0.45’,” 0.46’,’ 0.47’,’ 0.48°,’ 0.49’, &

> 0.507/ !pressure value of each color band

DATA intv/2, 3, 4, 2, 4, 2, 3, 3*2, 3, 2x2/ 'text intervals
intvk=intv (kkk)

IF(imin>=0)THEN; itextmin=((imin+intvk-1)/intvk)*intvk

ELSE ; itextmin=( imin /intvk) *intvk; ENDIF INo of bottom text
1=0; 12 1=1+1

xt=x2+0.1; yt=yl+dy*(itextmin-imin+intvk*(1-1))+0.4 !coordinates of character
itext=INT((itextmin+intvk*(1-1))* (Dpk+.0001)*100.) !No of press character
CALL MOVETO_W(xt,yt,wxy); CALL OUTGTEXT(zl1(itext))

IF (itextmin-imin+intvk*1<=12) GOTO 12

ENDSUBROUTINE COLORVAL

! kxxxkkkkxx Draw contours of f with oldcolor
SUBROUTINE CONTOUR(x,y,f0,if,jf,fk,kf)

USE DFLIB

DIMENSION x(0:if,0:jf),y(0:if,0:jf),f0(0:if,0:jf),fk(kf)
TYPE (wxycoord) wxy

INTEGER (2) status

REAL (4) £(0:1if,0:j£)
REAL (8) Xs,ys
e=.00001

DO k=1,kf

DO i=0,if; DO j=0,jf
£(i,j)=£0(i,j)-fk(k)
IF(ABS(£f(i,j))<e) £f(i,j)=SIGN(e,f(i,j))
ENDDO; ENDDO
DO 10 i=0,if-1; DO 10 j=0,jf-1; imoveto=0 !for all elements
i1=1; ji=j; x1=x(i1,j1); yil=y(i1,j1); f1=£f(i1,j1)
i2=i+1; j2=j; x2=x(i2,j2); y2=y(i2,j2); £2=£(i2,j2)
i3=1; j3=j+1; x3=x(i3,j3); y3=y(i3,j3); £3=£(i3,j3)
i4=i+1; j4=j+1; x4=x(i4,j4); y4=y(i4,j4); f4=£f(i4,j4)

IF (£1*£2<0) THEN
xs=(f1*x2-£2*x1) /(£f1-£2) ; ys=(f1*y2-f2*xy1)/(£1-£2) !starting point
CALL MOVETO_W(xs,ys,wxy); imoveto=1

ENDIF

IF (£3*x£4<0) THEN
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xs=(£3*x4-£4*x3)/(£3-£f4); ys=(£3*y4-£f4*y3)/(£3-£4)
IF (imoveto==1) THEN

status = LINETO_W(xs,ys); imoveto=0
ELSE; CALL MOVETO_W(xs,ys,wxy); imoveto=1
ENDIF
ENDIF
IF (f1*£3<0) THEN

xs=(£1*x3-£3*x1) /(£f1-£3); ys=(f1*y3-£3xy1)/(£f1-£3)
IF (imoveto==1) THEN

status = LINETO_W(xs,ys); imoveto=0; GOTO 10
ELSE; CALL MOVETO_W(xs,ys,wxy); imoveto=1
ENDIF
ENDIF

IF (imoveto==1) THEN
xs=(£2%x4-£4*x2) / (£2-£4) ; ys=(£2*yd-£f4d*y2)/(£2-£4)
status = LINETO_W(xs,ys)
ENDIF
10 CONTINUE
ENDDO
ENDSUBROUTINE CONTOUR

! kxkkkkxx**% Draw distribution of f with colors
SUBROUTINE DISTRIB(x,y,f,if,jf,ak,colors,kb,kf)

USE DFLIB
DIMENSION x(0:if,0:jf),y(0:if,0:jf),£(0:1if,0:jf) ,ak(kb:kf),colors(kb:kf)
TYPE (wxycoord) wxy, poly(6)

INTEGER(2) status,m(4)

INTEGER (4) oldcolor,colors

REAL (4) fe(4)

REAL (8) Xs,ys,xt,yt,xs0,ys0,xt0,yt0,xsl,ysl,xtl,ytl,wx,wy
jp=jf+1; ak(kf)=1.E10

DO i=0,if-1; DO j=0,jf-1; ml=ixjp+j+1 !for all quadrilateral elements
m(1)=ml; fe(1)=£(1,j)
m(2)=mil+jp; fe(2)=f(i+1,j)
m(3)=mi+1; fe(3)=£f(i,j+1)

m(4)=ml+jp+l; fe(4)=£f(i+1,j+1)

m() and fe() are four node numbers and function values of each element, respectively.

11 12 13 or 14 is one of four element node numbers 1 2 3 4, and the fe-values increase in

order. First locate max and min fe-value nodes 11 and 14, then determine middle fe-value

nodes 12 and 13.

11=MINLOC(fe,DIM=1); 14=MAXLOC(fe,DIM=1)

sum=FLOAT (10-11-14) ; prd=FLOAT(24/11/14); sqr=SQRT (sum*sum-4.*prd)

12=INT((sum-sqr)/2.+.1); 13=INT((sumtsqr)/2.+.1)

IF(fe(12)>fe(13))THEN; 1=12; 12=13; 13=1; ENDIF

! al<=a2<=a3<=a4 are nodal values of function f.
i1=(m(11)-1)/jp; j1=MOD(m(11)-1,jp); x1=x(il,j1); yil=y(il,jl1); al=f(il,jl1)
i2=(m(12)-1)/jp; j2=MOD(m(12)-1,jp); x2=x(i2,j2); y2=y(i2,j2); a2=f(i2,j2)
i3=(m(13)-1)/jp; j3=MOD(m(13)-1,jp); x3=x(i3,j3); y3=y(i3,j3); a3=£(i3,j3)
i4=(m(14)-1)/jp; j4=MOD(m(14)-1,jp); x4=x(i4,j4); yd=y(i4,j4); ad=f(i4,j4)

k1=kb-1; 11 ki1=ki+1; IF(ak(k1l)<al) GOTO 11
k2=kb-1; 12 k2=k2+1; IF(ak(k2)<a2) GOTOD 12
k3=kb-1; 13 k3=k3+1; IF(ak(k3)<a3) GOTO 13
k4=kb-1; 14 k4=k4+1; IF(ak(k4)<ad) GOTO 14

ak (k1) <=ak (k2)<=ak (k3)<=ak(k4) Small range ak(k-1)-ak(k) is painted by colors(k).
i.e. -infty-ak(kb) by colors(kb), ak(kf-1)-ak(kf):infty by colors(kf).
k1<=k2<=k3<=k4. ntype shows arrangement of k1 k2 k3 k4,

ntype=1: kl-k2-k4-k3-kl
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ntype=2: kl-k2-k3-k4-ki,
ntype=3: k1-k3-k2-k4-kl(saddle point).
ntype=1
LA = i3==i1.0R.j3==j1; IF(LA==.FALSE.)ntype=2
LB = i2==i1.0R. j2==j1; IF(LB==.FALSE.)ntype=3
xs ys and xt yt are coordinates of points on edge of quadrilateral element, whose function
value is a. The coordinates are determined by linear interpolation.
DO 20 k=k1,k4; a=ak(k)
IF (ntype==3) THEN; nvertx=4 !temporary
poly (1) %wx=x1; poly(1)’wy=y1l
poly(2)%wx=x3; poly(2)wy=y3
poly (3) %wx=x2; poly(3)iwy=y2

poly (4) %wx=x4; poly(4)’wy=y4; GOTO 21
ENDIF
IF (k==k4) GOTO 22
IF (ntype==1) THEN Intype=1

IF (k<k3)THEN; xs=(al-a)/(al-a3)*x3+(a-a3)/(al-a3)*x1 !'k1<=k<k3
ys=(al-a)/(al-a3)*y3+(a-a3)/(al-a3) *yl
ELSE; xs=(a3-a)/(a3-a4) *x4+(a-ad)/(a3-ad)*x3 'k3<=k<k4
ys=(a3-a)/(a3-a4) *y4+(a-a4d)/(a3-ad) *y3
ENDIF
IF (k<k2)THEN; xt=(al-a)/(al-a2)*x2+(a-a2)/(al-a2)#*x1 !'ki1<=k<k2
yt=(al-a)/(al-a2) *y2+(a-a2)/(al-a2) *xyl
ELSE; xt=(a2-a)/(a2-a4) *x4+(a-ad)/(a2-ad) *x2 'k2<=k<k4
yt=(a2-a)/(a2-a4) xy4+(a-a4)/(a2-ad) *y2
ENDIF
ELSEIF (ntype==2) THEN Intype=2
xs=(al-a)/(al-ad)*x4+(a-a4)/(al-ad) *x1 !k1<=k<k4
ys=(al-a)/(al-ad) *xy4+(a-a4)/(al-ad) *xyl
IF (k<k2)THEN; xt=(al-a)/(al-a2)*x2+(a-a2)/(al-a2)#*x1 !'ki1<=k<k2
yt=(al-a)/(al-a2) *y2+(a-a2)/(al-a2) *xyl
ELSETIF (k<k3) THEN
xt=(a2-a)/(a2-a3) *x3+(a-a3)/(a2-a3) *x2 !'k2<=k<k3
yt=(a2-a)/(a2-a3) *y3+(a-a3)/(a2-a3) *y2
ELSE; xt=(a3-a)/(a3-a4) *x4+(a-ad)/(a3-ad) *x3 'k3<=k<k4
yt=(a3-a)/(a3-a4) *y4+(a-ad)/(a3-ad) xy3
ENDIF
ELSE; xs=(al-a)/(al-a4)*x4+(a-a4)/(al-a4)*x1 !ntype=3
ys=(al-a)/(al-ad)*y4+(a-a4)/(al-ad) *yl
IF (k2<k3.AND.k2<=k.AND.k<=k3) THEN
xsl1=(a2-a)/(a2-a3) *x3+(a-a3)/(a2-a3) *x2
ysl=(a2-a)/(a2-a3) *y3+(a-a3)/(a2-a3) *y2
ENDIF
IF (k<k3) THEN; xt=(al-a)/(al-a3)*x3+(a-a3)/(al-a3)*x1
yt=(al-a)/(al-a3) *y3+(a-a3)/(al-a3) *yl
ENDIF
IF (k2<=k)THEN; xtl=(a2-a)/(a2-a4)*x4+(a-ad)/(a2-a4)*x2
yti=(a2-a)/(a2-a4)*xy4+(a-a4)/(a2-a4) *y2
ENDIF
ENDIF
22 CONTINUE
Divide into some polygons quadrilateral element in accordance with stepped function a(k).
poly() are coordinates of vertices of polygon, and nvertx is number of the vertices.
Coloring is performed in order kl...k4 in each element, but the following program written
in order k1 k4 ki<k<k4.
IF (k==k1) THEN 'k==k1
poly (1) %wx=x1; poly(1)’wy=y1l
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poly (2) %wx=xs; poly(2)iwy=ys
poly(3)%wx=xt; poly(3)/wy=yt; nvertx=3
IF (k==k2) THEN
poly (4) %wx=x2; poly(4)%wy=y2; nvertx=4
ENDIF
IF (k==k4) THEN
IF (ntype==1) THEN
poly(2)%wx=x3; poly(2)%wy=y3
poly (3) %wx=x4; poly(3)%wy=y4
ENDIF
IF (ntype==2) THEN
poly (2) %wx=x4; poly(2)’%wy=y4
poly (3) %wx=x3; poly(3)%wy=y3
ENDIF
ELSEIF (k==k3) THEN
poly(5) %wx=x2; poly(5)%wy=y2; nvertx=5
IF (ntype==1) THEN
poly(2) %wx=x3; poly(2)%wy=y3
poly (3) %wx=xs; poly(3)%wy=ys
poly (4)%wx=xt; poly(4)’jwy=yt
ENDIF
IF (ntype==2) THEN
poly(4)%wx=x3; poly(4)jwy=y3
ENDIF; ENDIF
ELSEIF (k==k4) THEN
poly (1) %wx=xt0; poly(1)4wy=ytO
poly (2) %wx=xs0; poly(2)hwy=ysO
poly(3)%wx=x4; poly(3)iwy=y4; nvertx=3
IF (k==k3) THEN; nvertx=4
IF (ntype==1) THEN
poly (3) %wx=x3; poly(3)jwy=y3
poly(4)%wx=x4; poly(4)jwy=y4
ENDIF
IF (ntype==2) THEN
poly(4)%wx=x3; poly(4)jwy=y3
ENDIF; ENDIF
IF (k==k2) THEN
poly(5)%wx=x2; poly(5)%wy=y2; nvertx=5
ENDIF
ELSE
poly (1) %wx=xt0; poly(1)4wy=ytO
poly (2) %wx=xs0; poly(2)hwy=ysO
poly(3)%wx=xs; poly(3)iwy=ys
poly(4)/wx=xt; poly(4)%wy=yt; nvertx=4
IF (k==k2.AND.k<k3) THEN
poly(5)%wx=x2; poly(5)%wy=y2; nvertx=5
ENDIF
IF (k==k3) THEN; nvertx=5
IF (ntype==1) THEN
poly (3) %wx=x3; poly(3)jwy=y3
poly (4)%wx=xs; poly(4)%wy=ys
poly (5)%wx=xt; poly(5)wy=yt
ENDIF
IF (ntype==2) THEN
poly(5) %wx=x3; poly(5)%wy=y3
ENDIF
IF (k==k2) THEN

'k==k1<k2
'k==k1==k2<k3

lk==k1==k2==k3==k4

'k==k1==k2==k3<k4

'k1<k==k4

'k3<k==k4
'k2<k==k3==k4

'k1<k==k2==k3==k4

'k1<k<k4

'k/=k2,k3

'k1<k==k2<k3

'k2<k==k3<k4

'k1<k==k2==k3<k4
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poly (6) %wx=x2; poly(6)’%wy=y2; nvertx=6
ENDIF; ENDIF
ENDIF
IF (k<k4) THEN
xs0=xs; ysO=ys; xtO=xt; ytO=yt
ENDIF
21 oldcolor=SETCOLORRGB(colors(k))
status=POLYGON_W ($GFILLINTERIOR,poly,nvertx)
20 CONTINUE
ENDDO; ENDDO
ENDSUBROUTINE DISTRIB

! skkxxkkkkkx Interpolate values at U from values at P
SUBROUTINE INTPX(u,ul,if,n)

DIMENSION u(0:if),ul(0:if)

FORALL (i=2:n-2)ul(i)=(-u(i-2)+9.* (u(i-1)+u(i))-u(i+1))/16.
i=0 ; u1l(i)=(3.%u(i)-u(i+1))/2.

i=1  ; ul(i)=(3.*%u(i-1)+6.*u(i)-u(i+1))/8.

i=n-1; ul(i)=(3.*u(i)+6.*u(i-1)-u(i-2))/8.

i=n ; ul(i)=(3.*u(i-1)-u(i-2))/2.

ENDSUBROUTINE INTPX

I kxkxkxx**x*x*% Draw line
SUBROUTINE LINE(Xl,yl,X2,y2)

USE DFLIB

TYPE (wxycoord) wxy
INTEGER(2) status

REAL (8) Xs,ys,xt,yt

xs=x1; ys=yl; xt=x2; yt=y2; CALL MOVETO_W(xs,ys,wxy); status = LINETO_W(xt,yt)
ENDSUBROUTINE LINE

oooooooOo0ooo0OoOoOoooO0OOOO0O0bO0000000 erIDOOOOOOOOOOOOO
000000000000 00000000000000 (analytical grid generation) D0 000000
oo0o0ooOo0oo0o0ooooOo0O0000oO0oO0oOooO0oO0ooOoooooo0oooboooooooooon
O00<E<140,0<n<2500000000000 AA=Ap=100000 (z=-100000000
0¢=000000 (z=70)0 4y =14000000 (z=0)000 ¢, =35000 4, =400000000
000 (y=0(zx<0), z2=0(-1<y<0),y=-1(x>0)0000000 j=000000 (y=3)0
Jr=250000

OooOOoOOoOO0O00O00000 pPoissonO0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O0O

€z +£yy =P, Nea TNyy = Q (13.84)

o000 pQUODOODOOO0ODOOOOO0OODOOCODOOOOODOOOCODOOODOOOODODOOn
cyOD &OOOO0OO00OODOOOO0ODOOO0OO0OO0ODOOOOCOODO0OOO0O0OOO0O0OO

L(z) = —J(z¢P+,Q) (13.85a)
Ly) = =J(ye P+, Q) (13.85b)
000 LOOOOO0O0

02 0? 02

L= g228—§2_2g12@+§118—n2
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gij=9;;/J000000 JOOOOOODO ¢;00000000000000%Y0
0 (1380 0000000000000 0000O000O0O0OUUOD000DO0OOUOOOOOOOO
o00ooooooootd y=30000000 z=-100000000z=70000000000£0
= ) ]‘_ )

000 2000000000000 2y00000000 25 = (1-a;)@p+a;z;, 0000000000
—iP+1.672+0.47, j=n/n; 00000000 300000 «0) =0, a(l) =1, «(0)

000 a(if) = —B+1.67>
06000000000000000000
0000 POOOOOOOODOOOOODOOOOOOOOOOO0O0ONOO0O000000000O

=04, o/(1) =

googbooooo
P;j =Py or = lp,
Tt
2 1 1
Pi():(g.t.t)ioz ( - )
LTi+1,0 = Li—1,0 “\Li4+1,0 —Li0 Li0 —Li—1,0
goboooUO0y;00000000000D0ODO0DODO0OO0ODODOO0OOODOODOODODOODOO

goooooooa
dg\~ . dn
Qz‘j:(ﬁyy)zjzﬁ (Z/) (dy) ”(y)ydn
dg)Zdn 25 e _
—) == 5 n(g) =8y—5
(dy A (Yig, —vio)? @)
000000001004 =n/25 §=(y-w)/(yj,-») 00000000000000000 200
(87° —15§%+137)/6, (0<§<1)02000000000000000 7(0) =0, 7(1) =
()=7/6000000000p00000000000O00O0O0OOO0ODOOOOD0OO

300 q7(9) = (89°
(1) =
goodobddooddodoooooooooboOooOo0oOoUooLOOobLOOoOobLOOo b boDOoOoOooobooooa

1, 7'(0) = 13/6, 7
0o0o0oobOooooooooooad
g rarr a0 P S B & [ [ L [ [ [ [ L [
ffffff}ffrffff i H I I I IJf JrI II II II II }' I'I I'I Il'
- ;‘HHHM‘IEIJI!IIJIIII.‘ |
s ;’.-’.-‘f,-’,-’ffffffffffff.f.f.f.f T S
f/.z.a’ffffffffffffffffffffI A
I ra = P A T T T I I ¥ 7
- P P rar A A T R R ¥ S I I ¥ 7 T
Pl A A A A A S S S S R T B Sy I i I
P A S ] i i i i i i i Sy i v
.I'.I'.I'.I’.I'.'.'r.l' i i i I_.'ll J.'ll _:" ;" _|" _:'l _.'r ‘l.l' I:I' I:I:I I:I:I
COMPUTATIOMNAL GRID
0138 00000000
Yoooo0o o=2((z,y),n(z,y) 0 x0 20000000 y0O 2000000
£ e +26aMe ey +1 Tny +Euate+oatn =0
3 l’gg+25y77yzﬁn+71y2$nn+§yy$§+71yyzn =0
00000 (13.66) 0 (13.84) 0000000000000
=g 00000000000 (13.852) 00000000000

9' wee+29" wey + 9P any toePragQ =0
000000000 JOOOOJg! = gaa, Jg'2 = —g12, Jg22
)ODODOOOOO (13.85b) 0000000

Y= y(f(a:, y)’ 77(513,
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0 (13850000000 zy000000 2; 000 %;0001000000SORODOOO0OO0O0
000000000000000000000000000 2w0000000000000000000
0000 SORODDOOONOOOONONONOOO

METRICO 000 00000000000000000000000000000000 X,P,U, VOO0
00 (2i;+1)x(2j;+1) 000000000 2,y000 ¢, ye, Ty, y,0 00000 J = 2y, —2,y:0 00
& =yl & = —x0)J, ne = ye/J, my =2¢/JO0000000000000UD000VOOOOOOOOOO
00 g = @2+y2) /M, Giz = (@exy+yeyn) [, Go2 = (x2+y2)/J000000000000 gu00O0 gV
000000G" =g, §"% = —G12, §? =9n. 0000 UO000000 8¢,/0€, 9. /0n, 8¢, /0¢, D, /o
00 VO 0, /¢, On./On, On, /0, On,/on0 0000000 dxix0000000

PREDCTO 00000 U,VOOO pO0 00000000000 000O0O000O000000000 10
00000 uo,; = 6ys,;(1-yo,), Yo; = Yoj/yoj» vo; =00000000000000000000 Uy; =
(J&u)oju, Vo; =0000000000 é00000000000000000000 Uy = Uy, Vij = Voj
000000000000000000000000000000000000 Ap = v(0%u/dy?) Az O
00000000000000000 8%u/8y? = —4/3000000 d%u/dy* = —9/160000000
000 (0D0)00000 Ap=1/2-.75%/2=7/3200000000000000000 000000
000000000000 po = {—(4/3)z0+(9/16)z;, }/Re—7/32000000000000p0000
00000000000 (0<i<3500 pj = po+(4/3)(zo;—zi;)/Re00000 (35 < i < ip)
00 py = (9/16)(z;,;—2i;)/Re 00000000000 (35 <4 < 100)00 pss; 0 proo; 00000
D0000000000000000000000 @%2000000 (1/2Y) /) [u(y)]?dy000000 0
Ap=.6-.6x.75°=.2625000 0

coMPUZO U X0OOO w,v000¢00000000000000000000000000 (13.68)0
00 (13.72) 0000000000

u=nU-&V, v=-nU+&V (13.86)

0 ~ . 0 ~ .
¢= %{6—£(§21U+§22V) - a_n(§11U+§12V)} (13.87)

0D INTPODODOO X0OOODOODOOOOUOOO VOOODOOOOO0OO00000000000UD
00 VODOOODO POOOOOOOOOOODOOINTVYPODD VO VOOOOO PO VpO0O00000O
Vio=(0V/0n)=0000000000000000000 INTVXKOO VO VOODOODO XO VxOO
OOINTUXDD U0 UD0D0DD0 X0 Ux0OODOOOO0O0O0O0O000000000000000000
20000 u;=u(z) 000000000000 2;4,,,00000000000 ujy,,, = (uis1—u;) Az
00000000«,,000000000000000 W, = (—2u+3u—u)/Az0000000
D00 u41,=000000w,,=@Bu-w/3)/Az0000
1,0~ 0 -
v :—(—U —V)
v=7\ae" oy

COMPU1 0 COMPU2 O O Navier-Stokes 0000 200000000 SMACOODOOOOOOOODOOO
U'=JU00000=JU000000000000000000 coMPUL0000000ADDDOO
0 (13.81a)002000000000000000

{J+ Aw(Ua%H?a%) —@l) }AUl* — rhs?,
{J+ At&(U£+V 9

¢ 8_77) —@2)}AU1* =rhsy
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OO0 »,00000000000000rhs00000000OO

rhsy — —At{ aanU+ 0 -~ U (Ua§z+vafz) —v( 6£y+V fy) +§11P§+§12PW+VCU}:

o¢ o¢
rhsy = —At{ (;)SUV+ a vV - (U%"g +Va%) (Uaa"g +Vany)+§21pg+§22pn—ugg}

0000000000000 10000000000000 Chakravarthy-Osher TVD OO OOOOOO
oboooooooooooooooogn

JAU*+At9{(U+ (AU;—AUE, | +(U gR—)A F1—AUT)
gn

. G ) )
+( o+ R_ )(AUi,jH_AUij)} =rhs (13.88a)
JAV* + At6 ( ++% (

jL(~ o)AV AV )+ (~__g£ (AVEip— AV )} =rhs, (13.88b)

rhs; = —At{UUijp—UUi_LjP + VUi7j+1x—f/Uin

- - 1 1
+ (§22)iju (Pij —Pi—1,;) — (912)ijU§(pi,j+1U_pz}jflU) + E(Ci,jJrl —Cij)} (13.88c¢)

rhsy = —At {0Vi+17jX ~UViix +VViup—=VVii1p

— uijy (U 867? + Vaan;)”v — Vijv (U%—nfy + V%_%)ijv

. 1 . 1
— @indav sy ot v) = @)y Brs—pion) = G i=Go)} (13580

oo0oo0oo0o 4;“0000000000T 0000000000000 o0o00ooO00ooUooOooo0o
000 Chakravarthy-Osher TVD OO OOOOOOOOOOOOOO0ODOOOOOOOOO

= ~ ~ AUl 1 1 .
UUijp = UUijP + |UijP|{_ 7;1/271 +gmlnm0d(AUii1+1/27j, 4AUZ'+1/27]')
1 .
+§mlnm0d(AUi+1/27j, 4AUii1+1/2,j)} (1389)
AU'71/2 j (U, P 2> 0)
AUsprjog = Usirj—Usj,  AUssygapn, = 4 oivzi - ar 2
e e {AUZ-+3/2,J- Usip < 0)
obOooooo
gobooboooooooboooooooooobooooooooooboooooboboobooobooOoooag
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gobooooboooo

52%ﬂ>::UWPE@i§£@i, (13.90a)
VUix = VUi x =0, 5&m_mm(wme %) (Vix > 0) (13.90b)
5‘\/le = Ulew, 5‘\/1'on = UinXé(—‘/io_2,j+6Vio_1,j+3Vi0), (13.90c¢)
Wiop Viop 31 (12Viy — Via) (Viop > 0) (13.90d)

000000000000 D0000 8V/op=000000000000002
000000 U*0000000 V*000000000000000000 100000000000
goboooboooobobobbobobbooogon

Oou

ov
5 +v ) I=1,2) (13.91a)

Q:ngmwm%=@)cf +Va) (g)@

o€
[ =1000 (Ju/d€);,; 0 1 = 2000 (du/dE);,; DOODODOOODOODD0DOD0DO(B0/8€);;0
(0v/8¢);,; 00000000000

(8_§)ifj = §(Uifj_Uioj +Uif,j+1_uio,j+1)7 (8_6)1'0]' = E(uifj—uiO_Lj) (1391b)

000000000000000000000000000000000 METRICOOOODO dxix=
8¢, /0¢, ... 0 gU,gV=gn,--- 0000000

SMAC ADDODOOOO (13.88)0 13.50000000000000000000000000013.50
0000000000000

couoo—ci"u_Lo-I—cl_ulo—c;'uo,_l +cy upr =rhs
00000 (13.88a)0 00000000 OOOO cf,cl_,c;,c;,coﬂlj (13.88a) 0 0 OO

T = —At9(0++§22/R6) Cl_ = Ate([ji—gzg/Re),
ey = —At0(VT+g11/Re), c; = AtO(V ™ —gii/Re), co=J—cf —c] —cf —cy

0000000D0000000000000000000 c00000000000000000001
00000000000 GAUSSZO OO0 D0D0GAUSSZO O OO0 13.50000000

00O coMPU20 0 (13.81b)00 U ' 000OODDODODOOOODOODD (13.81b)000000
ooooOooooo

uptt = Uy - At{(!722)ijU(¢ij —¢i—1,5) — (G12)iju ¢i’j+w;¢i’j_w } (13.92a)

Vit =V — A{= (@ua)ig PP G (60500} (13.920)

DO0O00000000000 (138300 0™ oo 138300 ™ ooooooooooooo

gobooogo

0y =000000000 w,v00000 u~y, v~y?0000000000000000000000000000COCOO0
obo0o0oooOo0oOoOoO0ooboOobOoOoooooo
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COEF, COMPPO ¢0 000000000000 00000 100000 SOROOOD Chebyshev SLOR
00000 ¢00000000 p000000000000000000000 ¢000000 (13.81c)
000 (13.83c) 0

) 8¢

9¢

d¢ dp\ OU* oV*
At g —Atg — (At g At g = 13.93
55( 92257 D€ J12 877) + 877( J12 8§+ g11 817) B¢ ( )
0000000000 000O0000000O00O00000000O0000
1 1
Z Z Cij it j' Qitir j4+j0 = Thsij (13.94)

i'=—1j5'=—1

gboboooooooooboboooo

91)it+1,50 (Pit1,5—bij) + (92)i41,5U (Dit1,j+1 +ijr1 — Pit1 j—1 — Bij—1)
iU (Pij—di-15)  — (92)iju(Pijr1+di1jr1—bij1—Bi1,5-1)
94)ij+1v (Bijr1 —Bij) + (93)ij+1v (i1 jr1 +Piv1,i—Pio1,j+1—Pi1,5)
— (94)ijv (¢ij — ¢i,j—1) = (93)ijv (Pit1,j +Pit1,j—1 = bi—1,j—bi—1,j-1)
= Ulpr = Ul + Vil = V35

(91) )
= (91)i )ij
+(94)i )
() )

000 (g1)iju = (At g22)iju, (92)iju = —(At §12)iju /4, (93)ijv = —(At §12)ijv /4, (94)ijv = (At G11)sjv
0000000000 gwOhOOODODOUODOOODOOODODODOODOOO0 AdaODODOODOOO

o000 ¢, 00000 139000000000000000 coOOOOO0OODOOOOOOOOOO
000000000000 0000000000000000000O000000¢DO 10000000DO0
D000 (¢e)ij = ($ir1~di1,;)/20 00000000000000000 (fe)o; = (—3d0;+4é1—d2;)/2
000000000 ¢j4pp 00000000 co(0,j,1,jpp000000000O0ODOO0O0OOOBOO
Odobo0o0ooooboobodoooooooboooooooboobooooooooooooooon
oo p,; =00000000000000000000000O0O0O0O0O0OO0OO0OOOOOO0O0O

o000 100000000000 0O00O0O SOROOOO Chebyshev SLOROODOOOOODOOOSOR
Ooooooobbobbieég=0000 4poU000D00O0O0OOO0OO 40—-1,50—100 1100000
0000000000000 00000000000o0oDODo00oD 00000 oDOo0O0Do00o0gnDeO
00000 (13.949) 00000

1 1
Resij= Y Y Cijujibiri gy —hsiy
i=—1j'=—1

gobodoboooobobboobooobbooboog
¢(n+1 QZS(H)—CMR&S”/C”OO

a=150000000000
ooooboooDoD0o0oobo0oooooooobeoobobOObOOoOOoOoOoOooOOOObDOooDDO

0000000000000 00D0O0DO0DbOOO000DChebyshey SLOROODDOOOOOOOOOOO

0ooooooo (i=1,35,...)0000 (i=0,24,... )0000000000OO0OOOOOOOOOOO
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3rd step
—93 94 g3
e | et o]
g3, ga
2nd step 1st step
—g92 | —92 Jj+1| —11 01 11 g2 g2
9 —g1 j| -10 | oo 10 -1 g1
| v -1[e o |
i—1 i i1
4th step
g3 —g4 | —g3
U ooooog g3 94 —93
3rd step
ga—3g3| 493 | —9g3
—ga—3gs| 493 | —gs
1st step
J+1 o1 11 -11 g2 g2
J 00 10 —10 —g1 g1
el I E R B —g2 | —go
i=1 2 3
4th step
—ga+3g3| —4g3 | 93
goooooood ga+3g3| —4g3 | 93

0139 0000000000000

00000000000 GawssODODOODOOODOOOODOOOOOOOO

acioooﬁf’ggﬂ)+Ci001¢5?+1)+0i002¢g+1)

=T — i:(cio —1j’¢l('i)17j/ +cio1j ¢z(-i)1,j/) - (1—a)ci000¢53)
=0

Cijo-1 ¢£T;t11) +ac;; oo(ﬁz(-;H) +cijol ¢£T;ill)

=Tij — i (cij 150" g Heiing O j4y) — (1=a)cijoo sl (J=12,...,5o)
ji=1

Cijo 0—2¢§Z’j22+cijo 0-1 ¢§Zji)1 +OéCz'j000¢§Z'jl)

= Tijo — 20: (Cigo 15 B o+ Coio 17 D10k gy v g7) — (=) iz 008,
ji=—2

gooboboobobdob ebOoobbObOO0o0ooboooooboobobbooooooooooobboobooooooo
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R

0.24
0.21
0.1&
015
01z
0.09
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